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1) ™

a) 12°wn is a better 1°1p than 79°0n — 77007 is a ¥17a PIp
2) anwran

a) 1on is the better 1ap
3) First xn»2

@) 27 says n2°wna NPl nrod — the Xna assumes throughout the x*xo that this xn»92
deals xvn02

b) For >"1 it follows that *27 holds that 77°0n isn’t Rvn02 1P
c) For anran it follows that 21 holds that 0on is also xvn 02 nnp
4) Second xn»92



5)

6)

7)

8)

9)

a) "7 says that 7390 is 772012 n°1p1 and disagrees with oomon who say 7y 73p 82"
"TIPA DR MWW TV IR FDWHW

Xn3
a) xwp of the X1nx mn

1) Presumably '2 &n>>12 also deals &vn*02a and it results that there is a 77°no
between what »27 says in 'k Xn»92 and what *27 says in 'a Xn»12

i) note that

(1) for >" the 77°no is that 21 in 'k ®kn»92 implies that only the better 13 of
72°wn 1S Run0a 7P while *27 in 2 Xn»92 says that 7von is also mnp

(2) for on 2 the 7vno is that °27 in "2 &n>>12 implies that only the better 11p
of 77°on iIs Run 2 NP while *27 in '} Xn»72 says that 7>°wn is also nnp

b) y1n
1) 'R &n»72 deals with Xvno — "2 kn>»12 deals with 22297 mwn
782 of the mww of > and on 11021 for the X1pon as explained by R"wann

a) For " —since "7 says 77°07 is 7P in 22277 MwA and o°»on then disagree and say
TIOWWw 7Y 7Ip X2 — and since °"'1 says 722w is the better 1°1p — it’s ynwn that 221 in
effect teaches that i°on is nnp in 2297 mw as well as the stronger 1ip of n>°wn

b) For aon 1’27 it’s possible that *27 teaches that only the better 777°on that’s the better
TP 1S 1P in o°aan mwn

c) aoxw for "9
i) Can there be a 7»&7 18 who holds that only 79°0n is 73y in %297 nwn
d) n2wn —only if the 7nx7 %7 holds that f2°wn isn’t 7w in 22277 MW"
Twni of the X max
a) N2 »ax say that 7von is anp in 02277 Mwa and 2°wn IS NP in XvRo

b) xwp to the xipon — since only 27 holds that 7207 is 7P in 0°277 nwA it follows
that X271 »»ax disagree with 13127 who say 12°wn is nnp and agree with >29

X2 by msoin as explained by X"wAin

a) For onranit’s a My ws that the xn3 means that 271 »ax agree with a1 that only
77°0n that’s the better 1°17 IS 72 in 2°297 MYA

b) For >"3 the x7m3 could have asked further that X271 2k don’t even agree with *27
because we’ve shown that °27 for »"9 holds that 72°wn is 7239 in 02277 mwA as well
as n7°on while it’s possible that 8271 »ax hold that the better 1737 of 72°wn doesn’t
apply to o»277 mwn because f2°wn isn’t W I 2277 MWA

Further mx°2 by mooin as explained by R"wann
a) Nwpto°"
1) In the x1n& mn that held that 27 says in "2 kn»92 that 77°0n IS Rvn 02 P



i) Why didn’t the & n3 ask how it is that X271 2R who say 72°wn is Xvn 02 anp —
and who for >" presumably hold that 77007 that’s a 173 1Ip isn’t Xv»°02 7P —
are pnn with "29

b) v n

i) The xrnx M7 assumed that the np o of »27 and o non is in fact that °a1 says
77°07 is also &vn*oa P even though it’s a 173 PIp while o°non say that only
72Wwn IS Run 02 NP — and X271 2R agree with oonon

i) Contrast the x>wp of the X7 for the X1pon where we’ve established that for
»" the &73 can ask that &2 *»ax on 277 M agree with neither *27 nor
apaply|

10) mooin in PwrTp as brought by X"wAnn here
a) Nwp to on 1121 who says for »a1 that n>°wn and 7°on are both xvnoa np

1) We established that the x1»x M7 held that '2 X092 deals xun 02 and that the
np1onn between "27 and a°non was that °27 said both 7on and no°wn are a1y
xvn°02 while o511 who say that miownw 7 73p R teach the xman that only
72°wn IS Xun o2 ANp

i) Now since on 1121 says that 7°on is a better 171 than 7>°wn — it follows for
X271 2K who say that 72°wn is Rvn 02 mp it’s a 19w 22 that 707 is Xun°oa mp
and that they agree with 27 and disagree with 3121

iii) Why then is it that the X713 doesn’t ask for the X1& 7377 how it is that X271 2R
follow >3 and not a°nom

11) R"wann
a) Nwp

i) Since moown accepts that on 11°21 can hold for o°nan the xmiaa that only n>own
IS Xvn 02 anp even though 797°0n is k97 — why can’t Mo0IN in PYTP accept
the same for &2 »ax with the result that X271 »»ax agree with oonon

12) qwnit of the X
a) Nipon of *wx 20
i) Xnby 93 agree that 7o is anp in o227 mwn if the 25w said "™ipy prm 72"
il) °27 and o om are P2 where 20277 mwna the 101 said 39y Twen 75
(1) o°non hold that the 15w is 1o that the 1 be anp by novwn
(2) »21 says 17 &7 oIpn AR and the 15w isn’t opn

N1'90 N"TN "2 7N N1'90T N1AIO

STOORT 19D 577 95D NP Y oY 110 N1 37 KD 571001 IR "1 000 7' Ta
SRR K102 9721 RAINT 299 915 ORMY 71992 NLRWT NP 'Y R1KRo032 "1 KD
BaR ;790MR2 RPITY MVRP RUAW2 P2 77792 P2 PInnT 70 pRwnT X1 n''b ban
79072 MINPT PAYAR RNIN2Y TOMNAA IMRT 279 TP 1P KD RURID2 O 1oWwn
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1)

2)

3)

4)

T BT R2TY AR ARTD KBA903 5"V 1M
anTPa
a) 27 Says 12°Wn1 N°1P1 701 102

b) A mwn in pwrTp noon says that 77°0»2 n°1p1 703 nna and the &anx assumes that
this means that the ;103 7m2 is n21pa only °on2

c) The R there asks that the miwn is a X°wp to 27 who presumably means that only
72°wn IS anp

maoin for " nvw as explained by R"waan
a) Nwpto°"
1) Why doesn’t the X3 answer that

(1) 21 who says only 122w is np deals Xun 02 where 77°0% isn’t 123 because
it’s a ¥171 1Ip — and the nawn agrees with 27 on Xvn*o

(2) the mawn deals with o°277 mwn when it says that only 79%on is anp —
because — unlike *27 in '2 Xn»92 — the mwn holds that 75°w» isn’t 7> in
0°277 nwn — and 27 agrees with the mawn on 02297 MwA

b) Possible y17°n

i) The & nx assumes that the mawn deals with xvno as well as o°a1n mw- and
says only 77°on is anp in each — it follows that the 7w is a X*wp to 27 even if
he said his x71°» only for &vn°o

C) 279 to the possible y17°n

i) We’ve established that >"1 holds that 1>°wn is the better 11p and — since it’s a
muw»o that 72°wn is Xvn°02 7w — there’s no reason to assume that the mwn
holds that only 77707 is Xvn 02 7P

maoin for an 11727 nv*w as explained by X"wann

a) for an 120 we understand the x°wp of the X3 because on 1121 holds that 79von is
the better ip — and it follows that the X m3 can assume that the awn deals with
Xun o as well as with o°277 mwn and says only 7007 is nnp in each — and it
follows further that the 7awn is a X°wp to 27 even if he says his &3 only for
XD

R"wIN
a) X°wp to onran

i) But why in fact does the & nx assume that the 7awn in pwp deals with both
Xvno and o207 mwn — after all the xipon of the &723 in '% pon didn’t make this
assumption when it established that 'a xn>92 deals only 2°297 mwna

b) y»n



1) The & n1x here needs to say that 'a &n>12a deals only 0°277 nwn2 in order that
there be no 7°no between *27 in "2 &n**72 with °27 in '} &kn*92

i) There is no 7131 to limit the mawn in PR to 22277 M
c) Nwp

1) Butwhy does the & nx assume that °27 in '® ®n**72 deals xv» 02 and that *27 in
'3 ’n»72 deals 20277 Mwa2

i) Say instead that '& &n>>12 for 21 deals with o°277 nwn and holds that 7w is
7P in 22277 M and it’s a 1w 93 that 7°on that’s 977w is also 713p — while
'2 &kn»12 for 217 deals with Xvn o and holds that kv 02 only the better 121 of
77007 is anp

d) yn
i) The result would be a x°*wp to X271 2k who say 12°wn is Rvn 02 np

1921 T'NAI'YAT DIvn T'Na A 770 N1'90T N1Io

MRMAY 11997 Do 10 NININ TOMR SYAT RUKRIDA IDRT JWINWRY waT 2mwn 7''Ra
SINPT RATTT 70T ORAY DaR 77712 11907 77790RA 11900 NINPTY RURI0A INDT PIONRT
79072 ER RUAI2 MAPT 90T 9077 M T9 NOB KU M1 MIMN 770N DD

2P'11T7Y DR UMD ORI NININ DI IO RO I BT XY

N297 2R MARTD RURID2 7P 79 BRT Ruaea w5y 17192 NPy 1v1paY 7'R2
B "D
1) Twni of mooin
a) X°wp by on a1 to 2" that was mentioned in 2 pon

i)  Why does the & n3x in pPw11°p noon ask that the mawn in PwIp noon is a Xowp
for 2

i) Why doesn’t the X3 answer that

(1) 21 who says only f2°wn is nnp deals xvn 02 where 77°07 isn’t 7P because
it’s a y171 3P — and the mawn agrees with 21 on Xvn°o

(2) the mwn deals with o°277 mwa when it says that only 77°0n is 7P —
because — unlike *27 in '2 &n»12 — the mawn holds that 72°wn isn’t 7w in
0°277 M — and 27 agrees with the awn on 02297 MW"

b) y1nby ",

i) The & nx in Pwrp assumes that it can’t be that 21 agrees with the mawn that
only 77°0m IS 22277 mwn2 anp because if so

(1) instead of teaching that only n>°wn is Xvn 02 12y and teaching nothing
about o°277 mwn

(2) 27 should have taught that 7707 is 7P in 22277 mwn because n>°wn isn’t
W in %270 M — and we’d realize ourselves that 719°wn that’s the
stronger 1p is Xun 02 1P where it’s a M ws that 72°wn is Pw



2)

d)

X°wp to the yyn of >

i) 'axn»92says for °27 that 79207 is 71 in 0°277 nwn — and yet °27 in 'K X012
still needs to teach for xvn°o that >°wn is 7P

laRit

1) 'R Xn»72 needs to teach that 7> wn is Xun o2 NP to point out the different 17
for nmx namely that n»mx are n°1p1 only by doing both 77°0n and n>°wn» as
explained in 27> °k 7"7n — 2°v7w of the 1°3p for n1MIX aren’t relevant here

R"wAn

a)

b)

lanivh!

i) Return to the first x*wp of the x93 when the &7n3x held that both 'k xn*2 and
'2 Xn*12 deal Xvn 02 and asked that °27 who says for &vn 0 in 'k Xn*92 that
70w is 1R is Mo himself in '2 Xn>>12 where he says for xvn2o that 77°0n is
7P as well as 7oown

Xowp to *"

1)  Why not say that 'x &n>>12 actually says that 77°0n and 7>°wn» are both np
Xun°02 and the Xn»12 mentions 72°wn to teach that N1 nk are Xvn°o0a mipa only
by doing both 77707 and 72°wn

v N

1) The x720 of *"1 can explain why '} &n>»12 teaches 7>°wn for xun o even though
we can derive 12°wn for xvno from 77°on for ov277 mwA

ii) But the X720 doesn’t go so far as to explain why *27 would use words in
'} &n>1a for xvn o that imply that only 7>°wn is 71p and at the same time say
in 2 xn>>12 for xun o that imply that 77°0n and 7>°wn are both nnp

INX? ' Iami TNa T 270 N1'90T N1AIo

RPADVT 7''0 797 92 710 777 00 RAPOURY "D 20T IRRPT 'Y 1y 7''Na
"D 7D RAPODAT W PR DaR 10 RURI02 ROIP KD 7I0RT 2N 1127
N9 RT7I5P 297 11277 RAPUT PI0ORT INMADT RN7 72 2579927 0w »''oy
NOIP R 7779017 21 WYY 70 I 2"y ROpR Ban n''anh
TR DaR 0% WSR2 TP 9MRT 1190 RIT N0 R N7 NuRo2
RD 322997 12 X2 97 339057 70 7T N'TDD RN 921 RAPIYRT 2w

121197 '35 OR% 2''RT IR 77T ROVW

1) mooin as explained by X"wamn

a)

XOwp to an 10

i) Both in the x1»x M7 and in the Xipon oonon disagree with *21 and say nap X2
TOWHW TY

i) Soit’s clear that o°»or hold that > wn is the better ip

10



b)

d)

Possible y1°n

i) Generally n7°on is the stronger 1ip but o°non say that 73000 is an exception
because 1707 isn’t 7w for 7190

X270 to the possible Y170
1) if 700 is an exception because 77°0n isn’t 7w for 71750
ii) then when the & n3x in the xipon establishes that '2 &n>>1a deals o°297 mwn2

(1) why does the & 13 ask that X271 »ax who say 17007 is 71 in %277 nwn
agree with 21 and not with o°nor who say only 722w is 7239 in 22277 DA

(2) When the x7nx could answer that it’s only for 7190 that 225 say only
72°Wn IS AP in 2°200 MwN

170 of % wo m

i) The final xapon according to *wx 27 holds that o»omn require 72°wn only
because the 121 said *3p1 7w 72 and for o°2omn this means that the 121 was
701 to require 72°wn even though 77007 is the better 1°1p

N7 awp Tivi TN D 7N N1'90T N1AIO

N7 9" DR DaR B'"op "> p''pa a0 o2 I N7 "D N Py 7''Na
(Cwpno) {n'A%) 7% wpn KLY T0RR RWAT ISOWR QN7 uAnpT
17 IRD PPRNINRT 2R {297 X2YWR 90} 299 (0%} 9% {3 wpnTs)

191 12 30737 TARY 2977 TN 7 KUK JIPIARWKRD RN 72000

1) mooin

a)

Refer back to 2 pr and 'x P21 where

i) axwp of the xnmx in PwI7p to 27 who says 2°wn is nnp from a miwn that says
77°0n is 7P is based for an 1°27 on the assumption that the mawn deals with
Xvn o as well as with o°27:7 mwn and says that only 77001 that’s the better 1ap
is 713 in each

b) Xwp to an 12
i) Even if the mwn in pwrp is a Xowp to 21 because it holds only 7von is mnp —
21 can still rely on a mawn of "»nam1 2517" in Ry°¥n X232 (Wwhose 2°v75 aren’t
relevant here) that mentions 87X 2a& that 7o°wn is 7P
2) X"wan
a) ToRw
i) Why doesn’t >" ask to an 1121 also that the mawn of "»nam 2017" in effect
teaches also that 715°wn is more 21wn than 77°on
b) y»n

i) The miwn of »71m 2517 is enough to teach Rrmk 23X that 7°wn is anp

11



i) but it can’t be said that a purpose of the m1wn is to teach that 7>°wn is the
better 11> because the purpose of the mawn is only to teach the special 17 of
271Im1 2011 whose o°v19 aren’t relevant here

1y qT
NNN'PIX 'KN2 2" T NI90IN "1 770 N1'90T X'AIO

71295 KDY "D MaR KD IR NLR02 10 792 RDRIPIN NP2 17772 [2 Ty W 0T
M207 97 N2 TIDRWRNY TYT NRIVOH AR DT D'OY ROIP 20RNAT 77 ' 19IDRT
TR ROD 7T QTR 29502 IRD AT PO 01" nUwD 1o w''on RIR T90n
TO0RY RVRAIVA 19 IPINT IRMDT N'ADY 7T PYD WP PRITRT 2’52 'owna I
5120 1297 "D KBR 11NDR RONKR KD D''RY 1OMRT w''on K2 ARk Runoa 1P
TR KDY 7790 RPIT 12299 10 TMARI AR RIT NP ROWR 257027 "D w7y

2T 2P D7 R2TY ARD DA N1 DR RDITYT 23 Y N

See '} p7n of this x°x0

N99 21 WX 2"TN 'X 770 d1'ona NN NIFNIRT X0

WURTTY DO 1D 230MT R2WMR KON SONDRD AR XY OR DAk 10 XDD 27 BN 1''7a
TONBR RDD 27 TARP K27 5779022 NOIPI NPMN PR 99T IR M 7T 08T and
TAPD 19003 T ORT 2MWM I 1T URMDY 'OINT DAR WYY 2ORONT RN NUN
BaR WM BT RDD 272) 2%MOMD KRBT KNS POD YT MO0MR2 NNIPI NPNIN
RDD 279X "1 DMK PR RO D19 7ONTY IORT DY 7T ANTT RTIADNT RANON

920 "1 "D HIDR TINT MW

1) First nnTpn
a) MK says

i) according to o"awn that *215 75%7 that nmix are 77°012 MIpa and require no
prmplalin ol

ii) according to " and on 11°27 that 131275 7577 that n1PmX aren’t 77°01n2 NP1 and
require a 77°on VW

2) Second 1n7p — RDD 27 — "N2T RTAWW 91 IR T °3p W anonh "
3) moon — Two 2°3%71 on the X of &9 27

a) %99 27 says for 1321 who require a 717°on W that in the qvw the 721 must write
27 RTIAVW 9271 %R 77 °3p — but for °21 who requires no Tuw — 855 21 is b and
doesn’t require that the 921 even say "121 198 T2 "1p

b) ®s95 27 says for 12127 who require a 77°on qvw that in the qvw the 1m must write
27 RTAVW 991 1R T2 °1p — but for °21 who requires no Tvw — Koo 11 says the w2
must say "'927 X7 921 ¥R T2 up"

4) X3 0no in PYYTR Noon on a npYenn between 7°kn ' and oonon
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5)

6)

7)

a) both 7°&n " and o n>on agree with 1121 that a 77°51 "W is needed — they disagree
on the nv>w of oo 27 for 1127 — namely whether for 1127 the 251 needs to write
"R T2 23" in the 7700n oW

mooIn
a) 7oRw

i) Why didn’t the X723 say that °277 172 n°X ¥"> that no 77°on "vw is needed and
9°}n "1 and o°non disagree on the mvw of ko9 21 for »27 — namely whether for
»27 the 101 needs to say "vr 77 *3p"

b) nawn of >"
i) Must be because the x»3 holds 11215 1957
c) Now

i) the &1 of >"1 that 131212 75%7 applies only if the second 7771 is correct that xo9
said his 7 for »27 as well as for 1121

il) because if ®95 27 said his 7 only for 1127 it’s possible that °275 179%7 and the
reason that the x»3 doesn’t suggest that 2°&» ' and o°non disagree on the nvw
of X995 27 “for 277 is that x95 211 never said his 777 for 21

w"R2 brought by X"wann

a) The X3 is a "x1 that 13270 1597 even if &95 21 said his 17 only for 13127 — because
the fact itself that x95 27 said his 17 only for 7127 proves that 95 27 holds that
11270 11900

R"wIN
a) ToRw

i) Why doesn’t m»oin agree with w"x"
b) nawn

i) That x99 27 holds that 131215 75%7 isn’t a &3 ano that would prove that the
X0 of °" in AR is correct that 73275 7997

i) There’s proof that the X072 of *"3 in 71X is correct only if the X3 ano in
PR rules against °21 — namely only if o5 21 says his 177 also for *2

TV T
AINMX X AT 2 P70 2Y'onNa NN NIFNINT XAIO

"D RUWD WP IRT IPINT RDT 23 5P AR 10 MK MR 7172 [R Ty 1 07
DN IPITITAT RAPAT RURIP RIT 907 Doy "D WwT NP ARnid winb B

MINRY RO IRTY D''RY MIDWR DR TN KD PNTPDY DI RWMNT RWWD
WITNT K92 AR ORT NMNT KRUNX ANTT WIIR PTPDY 770D wn X9 ORA

'R PITPDY RODID W 2T Rl
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1)

2)

3)

prlakrh]
a) XX in 017w nwRa pIo

R W K R MR — PAXS NPT KDY RO 2000 pRxcT ann v
2000 R PN

b) Note that if prg> »*3n i — X217 would have said that 1w n that 200w R Py
c) a1 brings the following &

1) there are r>w many people in X1rn who have the name °&11 72 °an —still — if a
X1 72 °2n7 presents a 217 qvw as a ¥ — the yain can be 721 with the avw and
the Mm% can’t say nX >7°7 0°127 P92 1R

i) now — just as where there are X2 >X11 12 2 oW — the 17 is that w>»n &
that the v21n isn’t the °X11 72 °an who is the %7 in the 211 2w — in the same
way 1°w>n X7 that 2°5w TR prix> where prg a0 pIma X7

maoin

a) When xa1 says "1w>n 82" he means that we’re not wwn that the true mon was
7037 the 217 7w to the ¥a1n without a 7777 vw because the mbn and the yan
weren’t aware of the 17 that 77°0m2 NM1IP1 NN TR

b) Possible other 72 in X271 — when X237 says "jw»n R2" he means that we’re not
wwii that the vain took the 2 avw by 77201 or N1po

c) A X271 by mooin to this 77nn isn’t relevant here
X"wann
a) noRw

i) If we’re not wwn for 17791 79701 even where there are X210 °X11 72 °an oW
why is it that where prx> *an p1min we are wwin that 200w nR prxe

b) nawn

i) Even where X2 °X11 12 °an on°ow — the probability that by 7%°01 or npo a *an
>X11 72 other than the m%n» is ¥23n a 21 “ww — is less than the probability that
200w IR priX> where prxe M pimi

NIA7T TN "2 770 D'oNa NI NIFNIXT X'AIO

927 2YPW TWNRT P52 MARPTY 2o 15 7M0RT PRT 29T 27 217 MaswT 7''Na
R KD W' A1 NI PRy "ab wven KD 1" 0 01 RRDT Rn KRBT 9290

1)

2)

TP'TY NPRM ORI PRT 2T VD 29T MasRT 100 XRhT
X3 in PY3 Noon
a) D°INX DY 217 0W PRXIN NAR YA PATA NYRY 12 90T I
nvoIN
a) ToRw
i) The p7is that 57°0m2 1P NPMIX PR

14



i) Why aren’t we w1 that the mbn intended to sell the 217 qvw to the yain
because the m%n and van both mistakenly thought that 77°0n2 12321 nPNIR

b) nawn
i) Everyone realizes for a 211 qvw that 77°0%2 N3P NPMIR PR
3) R"wann

a) We established in 'x pon for mooin that X271 isn’t w>n that there was a 71°on of a
2117 vw without a 117°n oW

b) The reason is the same: we assume that everyone realizes that mipi n1nIR X
PpREolam}

"2 NN AT T 270 AY'ona NI NIMIXRT X'1AI0

39093 15 R ans B''op 15 1mwa Tuw answ Har "o 0w nmR '
RPDOR 77 K97 ORTY '0IN7 392797 TR PRI 'Y DO 1D 9% 1R WK 27 a2k b
ROR 177293 9907 2R 0N PIPI NNIR PRT IR 2NN SPaT YL WK ab b
WO 'Y XY 927 1P RY FOTIAYOW D21 IR WTT 9957 5190 2anD R OR N7 MRPT
%7 TR WONT 'D2 TR 31579 110 PR BRI A0 TIAY 21 1% ansT 1190 TN R
B27 1TOR A1 aNDAY Y2 IR WHDT KON NP anonb oya »''ob7 XD 172 930hD J1aM

PN TR

1) R
a) 1327 say that n1mX aren’t 77°0m2 NP1 — a 77°0n WY is needed
b) X995 27 - ""27 RT2WW 921 17KR T2 °3p D an>on? Py
C) WX

55 203 XY X797 PD 2N27 KRAYD 9 NRRY RITD 277 AR XDYAYY RN
TP RIT INITDY 9D HY TIXT 901 °1p KD o7

ED NED PR W !N
2) Twnn of the X
101597 NPNIRT 777012 MIPI TR NPNIX OWR 27 0K
3) mooin

RV 9297 1177 A7 0w 77 21p U7 INRPT 290 1P 0w N7°0RT M IR
T 173 WYA 7 TR TV 9V 1w 20w amows Par

4) S"wann
a) Xwp as understood by X"wann

i) Since *wx 21 himself explains the X720 why 77°01n2 MIp1 PR N1PNIR — Why was
WX 27 unsure about this "7 in his & X9pw with X375 27

b) v n
i) This is the correct o3 in the X7

15



%2719 2N3 K9 X7 0377 DY 2NDT Xnyw Y9 AR RITD 277 np RNYRwH 00N
TIX7Y NEY PR Y AERY TR RITIMTOY 0D D XY 00101 K

5) R"wann
a) There is no need to change the X093 in the & na
b) Instead

i) >wx 27 accepted that 77°0m2 NP1 NP MR 1°X because 1731 71 and a 1ap for a
2317 TLw needs a 7% WY

il) *wx 21 suggested contrary to x99 27 that the 77°on “vw ought to be valid even
without writing a7 T2y w 921 17°KR 7% °3p because otherwise o 5y x5 0
("nn2a) 77X X7 IR

1ii) X175 21 responded that he agreed with x95 11 that the 77701 qvw must say °1p
Tayw 91 97°K 72 because otherwise we in fact say that X177 1m7°%% 9 Hv 35
X

6) Twnaof X"wan

a) See mooin earlier in X959 27 R 7"7 0N a Xnx in PR that assumes that xn%y 715
agree that 77°0m2 NP1 NPMIR PR but KT 187 are P2 on whether the 77°0n ow
must include a7 723°w 921 37°R 12 1P

TV QT
N99 21 n"T nivoin

1> 192992 IR ORR YaWR NRNDITR MR annT 9 K52 29 7''7a [2 Ty 1Y 7]
PIPD PO IR P92 PIPM QM 102 1IRR KD PavR WIRY NNN IRNDT2 Par oy
2Ty 20N

1) X

23R RAR 92 PR1AW 272 93 17737198 ORNM %2 17 297K 10°70 7 17 XDD 29
1727 RDOX

The & nx explains that 855 27 relied on 23X 3P because yavn isn’t 731
7912

2) nmsoIn
a) Nwp

i) If the x7mx means that 895 29 was m1pn a nXI7 — even 2xx Pap shouldn’t be
effective based on what the X nx appears to hold in naw >» P9

b) Possible y17°n as explained by R"wann
i) the X7mx in npw *» P9 that refers to a nX17n that’s not n°1p1 means that

(1) yoonisn’t valid to be anp a yavn kY the same as 17991 isn’t valid to be
7P a yavn — but both yawvn and vavn nR197 are 73p1 by 2aR

16



(2) While other mx%i1 are miap1 by 1o°%n as well as by aax

'at n7D "1 0"awn

PYITI T RD 2977 aRT 2oy 10 PYITIR 2977 aM "1 At 91 772 2''awnea
P'NTY NIDY AR AT PR TARY 23 PTIPT RITY TN T RDT IRTY 271 onw

Ny q71
ynv XN a2"1n"awvwn

TAVAT SR RTT NN HY JTIR TR N D AT R 3" [R Ty Ry 7]
DA 13T TXOD KT 1M 9272 01N ROTITR MIDDW TIWNAT 170 NR0N DY Doy "o v
1By 190Y 199y I

0V QT
X' 7aIv a"T1 n"awn

1> P72% KDY 72T INRT 2377 9 TP 10 K92 A 7''Ta 2'awnsa [N Ty vy 07
N2 2" "1 7t XY 10 KDY 2725 12 KDY 12D AnpT npnn AT e R R oy
2729% T2 NIR 272 YA JIOWNR KD NUan P72 KDY 7aIRDT 191020 AN KON NP
noa7 P7a% R9Y 12D X92 MR K97 NPT 372 9PN 0T DT ROMIT IR TR

5Py 1MTY KON

NN O A"T 0"awn 'N PN X'mna T Xaio

By "D WP NN 2R RDT ITIR TN 227 020 B'Map o s e p' ' Ta

NPADVT 795 19 RI91 KDY 10 R7 7900 AR RDT 1D PR PRT 'O 0"

PRATPR 90 DR 9297 179 2 9057 ARP 92T 2 D' aRwT wITPn 2TR RT 2R

75 1% PRT DM PO WIPTTT MY IDTRNT 7wn BabwT mapn aTRT MANRT P
S

1) First nn7pn — there is no 1 yap for wpa

2) Second nnTpi

a) there is a npY7onn whether 221w% X2 X5w 127 73pn 07X

b) The nx7 181 Who says 021w% Ra X?w 127 73pn 07X requires that the "127" be in the
137 of the 12 when in the end it’s 0779% X2 so that the 1% can then be 71y the
"927" by xn PR

¢) Since wpn has no 2 7 — for wpn to be nnp a 127 when in the end the 727 s Ra
o?wh the same KT 87 requires that the 127 be in the mywA of the wypa in the
end when it’s 07w X2 — if this condition is satisfied we consider as if the w>7pn
was v7pn the 127 with his 112>7 from the start — 7%nn2

d) For example
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3)

4)

5)

6)

i) ifaperson is w>pn a Ma that is later oon X901 ("oon Xonnaw 2") — if when the
o°n is 07wY X2 the oon flows through the mwA of the w>7pn on its way to the 112
— if 0?5 X2 XOW 927 nIpn a7X — the o°n becomes wpn by the initial 27 of
the w>7pn

ii) if a person is 12>k 77w w>7pn — then even if 09w X2 XKW 227 73pn QTR — N7
128 17w grow directly on wipn n7w without first passing through the nw of
the w>7pn — and it follows that 19°X 77w *217°x don’t become w7pn by the initial
12>7 of the wr7pn

Third 7P

a) although 12°x 77w *717°3 don’t become w1pn by the initial 1127 of the w>7pn — the
0°917°3 do become wipn as "wpn A" by way of wipnn o

Fourth nnTpn

a) o°xin disagree on whether there is n%2°vn for 2173 that became wpi by npo
wIPnn

n1awn
1R 770 T2 o RonNIw 72
79V PR 79V PR a7 "M
77ovIn 79I TR 297 R2HR 01 "M
L Riraala) rsala) NVAY "2 YR M

T2 of these mww by o"awn and "
a) TR I ONTA

i) °01 "™ and Pynw M2 rYHR ' who say 198 77w 021703 1oy must hold oy
1217°32 because we’ve established that even if they were to say that 7pn 078
0?wh X2 ROW 127 that 177 isn’t enough for the m1°s become wipn by the initial
1127 of the w>7pn

i) 777 " holds 217232 oM PR
b) o Xonnaw M1 as explained by x"wann for o"awn
1) 1Ynw "2 rvoR ' who says 1y for oo x2anaw 212 must hold 27 mapn o7x
o?wh 82 R’ — and must deal with where the o°» became w7pn because the oon

flowed into the =12 through w>7pn nmw- because o aren’t 21773 that can
become wipn by way of npor

i) 777 " holds that o7w% X2 R5W 927 73pn TR PR

iii) We know independently that 27 says 02% X2 Xow 127 71pn 078 — so it can’t
be that he says for >0y "1 that o°n Xonniw 1122 159 1K because m1pn DR PR
07w X2 XYW 727 — S0 it must be that >21 assumes that o1 " doesn’t deal with
o°n that flows through the mw~ of the w>pn before it comes to rest in the =12
wIpn v
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0y 71
nTwa 728 n"T nivoin "a 7n X'nai T Xalo

RO PR 7AD" PRy T R e Twa Dan 1''72 men [2 Ty vy 07
ORP 1D 9" WADRW 7172 90 oY "D IR0 ' DR 172 95D 11D R UMY PRITIA
PRT 71 99D IND2 DaAR 10 10N 72 KDY 12 PRV "7 9" mnow nnb aa
BaBWT 7IRR DTN T'AD TAMWN 22 TR TR YR A0 2" TR PRITIAL PR

12902 AR PEYYA

BabWT 71 ATRIY IPIRY TR AN RROT2 RHD 172 7772 MY 3R RPT BT »
T9ORY ST N 7T 7TONN 372 IO YA N7 0a4WwT 710 27N 7''RR DR by
BapH 93990 1''517 PRITIAL PPOYINRY IORT FITRA ORI DR AWDT AR 1IN 1N
FTWR AP YIN2 RWON2 AWDT 9957 MMY TP NN RDT KUK 01 271 777 02

P'TY B AT IR QTR TN M22) PRITIRR PEYINL TR

1) xn»m2

1IYAY "2 TYIR Xnp XD
12IN2W A2 AR 7OV 19102 POV PRI 172 7Y R? — WONN1 2" PP wUIRA
IX 22 27 R XTI NP

77w3

2) X3 — Mk of the &n»»2 by 727 for the Ripon of the xma

NVAY "2 YR M Rp RN
19IN2W 702 AR PYYIN 19102 779YIN PRI 1A 7Y 2"ARY 73R AW 2 WP
WonN1
19IN2W 72 AR PYYIN 1912V 722 AX PVIA 12 PRY2 12 AT WP AR

ié7aa)

a) 1 M2 wpn deals with oon Xonnaw 2 that flowed through the w>pn mw- before
they reached the ™2

i) Xnp xin holds that 071w% X2 RoW 127 7Ipn 07X PR so it doesn’t matter that in this
case the o» first flowed through the nwn of the w>pn

il) 1wnw "2 rvoR ' agrees with 2oxn ' that 221w% &2 X5w 127 73pn 078 and wipn
can be nnp the on by way of the initial m2°7 of the w>7pn since the o in the
end came in through the nmwn of the wpn

iii) But if n°3p>1 n7w wopn — both agree that 1% in the ma0s that grow later
because they both hold 17232 153910

3) Mmoo —°"
a) Partl

i) 721 could have said that x»p ®1n and 1wnw 12 2199 ' both say for n7w that
1DIN2W 712’9112 POV because

(1) they hold that 917232 759 PR
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(2) and “for w7pi7 even Nwnw "2 TYHR " who says 0?2w% X2 ROW 927 71pn 07X
requires that when the 127 is 22w% Ra the 127 be w>7pn mwna as explained
earlier”

b) Part 2

i) But 721 couldn’t have said that they disagree not only for =12 but also for 77w
on whether 27w% X2 X?w 127 73pn 278 since “for wpn even Nwnw M2 ATYoR "
who says 0?15 &2 X7w 927 73pn 27X requires that when the 927 is 22w xa the
127 be w>7pn mwo2 as explained earlier”

4) X"wnnn notes that the quoted words apply to both parts 1 and 2 although msoin
mentions them only for part 2

5) Twnnof X"waan at "yn"
a) Nwp
i) Why doesn’t 727 say that the o°xin disagree on x7»n11 ™2 based on whether
07w X2 XKW 727 73pn o7x and they disagree on Mo axbnnn n7w based on
whether 191732 Py
b) yn
i) It’s not 12non that the o°xin would disagree based on two separate o°nyv

9 T
I'mMnna 2" T n"awn

AR PV APIDT 'R DU T 000 72 INRY "2 anna 172 2''awnea [R TRy D 0]
B "o 'R Iy

NN XN"T NIDOIN

5121 B'"op o nowehR AR 'Y N0 P ORI RNM2Y "0 7ARa R 7''Ta 'on
2727 NIND 95 91 DaR RITIR IR NInR RAT R 7' ans KXY o Pwha
729722 SR PNNANR AR KT 27T 2579027 TINIY 1NDRY 'O NN B Ak
NOOYT 2D AR TR AR AR 9D RPIT7 SWNDY RDIRT 21R) a8 a8 b5 b2 nwKa
ARY AR B2 1T IYNDR 17N NNAN DR TIRT 779902 ART s XNta2 RnNa2
RNI122 5INPT IR TIRRT 19IM2Y PR TIWNRT 719972 920 AN YR NIan nNw
925 MDY 19YM2Y SWNRT KT N2 N2T RNN22 79 SRR T ROT RNDM RN
"D POROHRNY AR 77T DR MRP RNWITY "D TNWNRT 779902 DR KD I XOM
DWW 321 TNWRTT ARD NORODW R RIPOVR ISR MWK 7102 IR 1T
ROR DOWSRM RS NPT 22D 197 TARD NOPIRTY TIIRT 5799720 nRhR nayvamy

2T 10 RDDIM 9 JUNRT

1) mwn
a) PNWR 73°72 1751 1A T M IP10N

20



2) Xn»2

a) "I ANwKR 79002
3) & mxin the X0 of mvoIn

a) XNI22 X7 AR RO ROWP KXY
4) 7w of mooin

WIHWY IR PTIRIT L. SIRY ANWRA 79772 17972 KRR 007 N1 RNMO2)
51991 2awnPH X7317 73 KT KON NOYaN

5) Aov P isn’t 071 the word "'saw 170 X3 in MvoIN because nwoin had already
mentioned "M INWRA 72072

6) X"wann —x0a of mooin that doesn’t require the X093 of 701 *pI
a) moowin explains that

i) from the mawn we might have mistakenly assumed that the 1% needs to be
m9n only the 7w 715°92 born to the initial manx (Miak of 'k M17) and not
the 71wxA 712°72 born to the minnk of the next generation (mink of 2 7) —
namely the manR who are mia of the initial manx of 'R M7

ii) that’s why the Xn>12 needs to say &n122 &i to teach that the ni»% must be
9 the first 75°92 born to the nianx of '2 717 each of whom is a Xnna of the
mnk of 'k M7

b) mooin then says "y &x3m" to explain further that

i) the np> must also be m>1on the 1w n1WwRA 72°72 — meaning the 75772 that’s
the 713w 79772 born to the nianyk of '3 117 who are 713wxA to '2 717 and are v
to 'R M7

ii) the same 1>7 applies to nw>Hwy “aw 1572 — meaning the 7572 that’s the 15°72
a1wRY born to the minnx of '7 117 who are 1w to '2 17 and are n°w°5w to 'R 717

c) And mson ends by noting that

i) the xn>1a could have explained further that the 1% must also be 197 the
first 79°92 of mnx who are n°y>2 1 Pw°5w and so on — but 2wy 89517 0 WR"
"1

d) It follows contrary to no *p1°1 that the word """ that msoIn uses in the phrase
"y AWK 1372" doesn’t refer to the same 775°72 as the word """ that mooin
afterwards uses in the phrase "nw5w "1w"

9 7
NNOXN DY AT N"awn

RN P''0%Y 12 YRR 32 7ORPD WADATD MR 19770 17''7a 2''awnsa [2 Ty 5 0T
MWPT RAT PINT QPR TIDT TINONT RIWODT Doy MMOKR T9UADY 'An A0 10 b
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R 3190 'A% morah TV MON WIRT 0D RDIR 'R HaR 1D 77 0 XP1TT "0
"= P''ND RPR 31D RDT DIPHT RN RAPIND 79 X2

1) 'Rxn>rM2

97777 92747 DAY 2NV A VPRI M 7723 YRR 10ann anpwi nna o
A7 NAWS MY

This implies that 7x>xp below three oonov isn’t "7% *5yn" and doesn’t
benefit the "om

2) 'axn»™a as explained by "wmn
a) Rnp XN
a0 DTNV ATV RITW 2191 NOYAWA TNpw NN PRYP PR

This implies that 7x>xp at any level is 7% *29n and that’s why the 7¥°%p
IS N>y 2wa 70K

b) "
PRI 1 0PI IR PRIPY 27100 7723 IR KPR 70K 1977
This implies that 77x°xp at the level of one or two o°now is 7% *oyn
3) X
a) Nwp

i) If ') Xn»12 was said for a7 ' — it turns out that 7737 " in 'K X172 1S 1Mo
what he says in 'a xn»12

4) o"awn

RIIIR MW KOR RNYW ORT D2 09T w007 ROK ['2 RNM27] RP RINN
TOR 79VA7Y A 1A 10

5) X"waan — k2 of 2"awn
a) Nwp
1) The x7na deals with the 79°no only for 77y ' in 2 xn12

i) Why doesn’t the &3 also deal with the 777°no for the x»p ®in of 'a xn*"2 who
says that nx>xp at any level is 1% *2vn — yet 'k xn>92 implies that only a nxoxp
of o mow "3 12 7YY is A% Yhyn

b) v
i) Must be that X»p X0 in '2 Xn*>2 is A%°%P 0 in peyaw only oonov ' FHvnY
6) —Twni of X"wAan
a) ToRw

i) If so the x 3 could have said that 'x xn>»12 was said only for the x»np xin of
'2 xn*12 and then there’d be no 77°no for 777° " in "2 ’p»2

b) n[awn
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1) The xnx asks that there ought to be a y1°n that resolves the 77°no that would
apply for 777 ' were 'k &n>>12 said for a7 '

.NO T

'xnn a"Tnh

"3 O VP RTIPY KRR '2 2N BPIT OTOR N "D RAR 172 'O [R TNy KD 0T]
A5 1D RTONY IR RO O RORWP ORR D''KT WD NP KD RO 0oy "o 120k
RTIPY RI22 MNTT TR ORTY VTR ORITT RO D RDINT 7IIT WORT A wpnw
RTI? 9K X027 2 217 RTIPY RV2% BaR 22 27 RTPY N0an 2wn A j1an

TP'ITY R KD 200

1) nawn here

DUPR P NUR "2 P
ypIp My YPIP AP 11X 7227
ypIp INnpT w"on ypIp My R "M

2) mwn in 0M>°2 noon

PRD "M 1127
hmhizal gulal RIIP 1IPRI R°2IN fahhipAl gl AP XY
RP1 X721 NIPK "2 1970K RPY R0 NUKR "3 AP XD0
3) X
a) Nwp

i) Inthe xw™ of the mwn in o>12°2 why does 7°k» "1 need to say that 2 mpn
X7 X2 N1k — once we know from the mawn here that 2°k» " says '2 nnpn
YRR A1P NUPR — it’s a Muows that X1 X0an

b) v

i) °Rn " in the X of the mawn in o>>°a teaches by mn» that nx>p doesn’t
depend on ypap at all and that even pyw: 12 N7 P2 IS XY RN

c) Nwp

i) Since 1127 say ¥ypp 7P R MUK 2 P we understand why Xp 1R — but
why is there nxan

d) y»n

i) 7127 are poyon whether the 7 is ¥pap a1p — this poo is enough to be 2»nn
X277 but isn’t enough to remove ypap from the npin of the 1om

4) mooin
a) First xowp

i) Once we know from our 7w that 1327 say ¥pap 73p n1a2°R 5 anpn why does
the x9°0 of the mwn for 2>113°2 need to teach for 1327 that X°2n MR X anpn
NP
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b)

d)

a)

a)

a)

v17°n to the first Xwp

i) 7K the mawn needs to teach in the Xy for Prn " that ®°2m IR '2 nnpn
X1 to teach the w7°n that X1 &°an even for pywn 12 N7 npYon — the mawn
teaches also in the x9°0 for 3127 that X1 X227 N1°R '3 Anpn

i) Note that this >7°x is from X1 &*2n for 987 ' to XY X°2n for 1327
Second Rowp

i) Why does °x» "1 need to say again in the x2°0 that X2 MR '2 7pn 270K
X

717N to the second Xowp

i) 7K the mawn in the X9°0 says for 1327 that X1pY X°2n oK 3 anpa — that
implies for 1327 again that X7 12°8) X°2n IR "2 7npn — the mwn again
mentions for 7°xx " that ypp 71p N9k 2 7P

i) Note that this >7& is from &7 1°R) X2 t0 8P X°2n
Third xwp as explained by R"wann

1) If >7x applies in the y17°n to the second X wp from Rp 1R X*2n to &2
X1P1— why does the X3 say for 2°xn ' that the X1 X227 in the Xw is anrn
to teach that Pw:1 1 Mo 1197 is also XY Xoan

i) When the & m3x could have explained that 7°x» " says X1 X°2n NMI2°KR '2 0P
in the Xw>1 —>7K the mawn needs to teach in the xwn for 1321 that 1108 X0an
X1 (namely that although there is no nx>p still poon there is 7xa7) the mawn
also teaches X711 x°an for 2R M

5) X"wann

Note that n190n couldn’t ask its third ®>wp based on the first >1>°x because the first
*7R IS a stronger >7& than the second or third — because the first *7x is from
XY R0an to XY X°an while the second and third >7>>x are from Xp 1K1 X°an to
X7P1 R

NNTIXN 'vIvn? 21N

YART 2107 299D KDY 3392 2122 YR A1 PAINAT NI VDY 10 nRTR wwnas "'
SINPTH MMMAR NP 9122 M1 PRNINR D'YT PRANNNRR YD KD K77 ' Doy "o
PROINAR RIWDDY 79 210 77T 927 RNSSIN RITT ONTY DaN 1AR% 0970 K9 10 TN
DA77 AR DWT AR MRT V10 B'pT HIph 3" Dw 1D RO AR W2 R

T2'197Y 193 2993 5T 3K 92 RIP MNT 1ON1ARY

1) First nnipn

To be 71 X°2n a person needs to be able to say both " max? vaw: wx yara"
and "% nn>"

2) Second nTpi

'R 7Iwn in 2277102 noon
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i) 1% NNYIPMARY YaWI WK 11D 120 1KY DY RNP IR KON AT
b) 'amwn in 252 noon
i) RTIPY R0 DRI MR )
C) 'Amwn in 2°M52 noon
i) 917 NN % RO¥H KDY IR PO 1701 RY D°WIT ARTIP AR WK
3) mooin as explained by X"wann — mpyonn of on 127 and >

n" "9
T3 WR D IR 2 TIWN | MKW NI AP R A mawn | Do
YR Y 2127 DRV MRY | RPPT RNPI K220 ORWN X
112 NNY 03 IPNIARG vaw) ART RI7 °1P 2122
IR DR RIPI R P | RIR DD 03 RD ORIWN
1P N1an YaWI WK N
S 537 ®D DaR 11 MAaRy
737V X27 1% NNY b
5952 DWW VAR 7 T3
X '3 7Iwn non WK
115 DNY M P
TPRYDYY 2w 090 | ROR 2 awnd 0P PR | Iptemn
— W12 7 M0 7990 | nhwa a7 Mo 7900 e
WK M7 2120 KD 1PN WK M7 9120 73 WR
770 2y 1 MaRy yaw: AN IPNIARY Yaws
D1 AT AR 7R | 2O 1 AR D annaRT
2127 R O1P 120 ORY —
X°221 117 NN 1% N1
X1
73 WK 77 PR RNO0IN a7 Mo RO | AR
nNNY M2 9127 DRWON MR X°NX "nPwI2 3
1P %127 RIWI KpP*7 1L
IR0 "2 TIwn DY ara
'R NP9 N9 Yo

N9 Q7
|27 Aaninn 2" Tn

B 5oy "D DY MR 2IPAN TIOY WD 1R "2 1700 7N 171772 [2 Ty XD 07
29102 DY WYR ARR WMDY RINTD FANITA AN MIN 2IPRAW 5N OB MIN
IP'TY DN

IN7 T2AYT n"TN 'NX 770 TANA ANaN ANRTT XAI0

17''2 9077 9270 119 MARIATY 9''oP 10 KDY 1ARYa NI ROARW pawn "1 w7 TayT a''Ta
RDY? ORTY M3 U7 DAY MRV NI ROT KD 1D ART 2''AwN5D 1R N2 IR
NDORT ROR 772PY N7 AR TN I PT PINWKRY RNNT 2T XDDOR ORPING
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T3 NI DY T ORI PO I0WNT KD PRI 1AL T2 DRT RIAT WIDD

1)

2)

3)

4)

5)

6)

7)

8)

RMTI R NDD B 20 1Rk n''eb B 39y Nann
First 7a7pn
a) NI O2°01 "M

i) For there to be "> p for 0>7132 the nm°p% and o°%w7°% 7827 Must be k2 — by
one person

Second 37pn

a) o"awn says "ampL" begins with 77°xa (the same as nwp»)
b) mooIn says "nmpL" begins afterwards with n>an 1 amp>
Third 7n27p0

a) o"awn says an example of where there is no Tixa nxam anPY is where a %W is
7772 N and the ax27 is a1 by a second mohw

Fourth nnTpn
a) A mow isn’ta > p 72 even if he does TnRa axam AP
Fifth mn7pn — xn»2
a) °Rn "M says that 1°RY X2an TR 12°K 70p0 because there is a 07122 Poo
b) 7127 say that X 1°RY X2n NMIo°R "2 anpn because there is a o152 poo
Riab
a) Nwp
i) For o222 poo how does a person avoid the possible "1p 2rn
b) v

i) XPan™2ao0v 0L 7avT — namely o°9va are 115 that there not be nnpb
TR IR

mooIn
a) Nwp

i)  Why doesn’t the X3 answer more simply that o°>v2 arrange for the entire
7Ram amp to be done by a %W — after all we’ve established that a m°%w isn’t
X7 p even if he does TnR2 R2m IMP°

b) v n

i) From the nw? of 7°xn " and 1127 that "&7p 11°%1 X°2n" it’s yvawn that they deal
with a nxan by o°%va

R"wn
a) noRw
i) How in fact do o°%v2 arrange to be "&1°117 "2 >0 "5 7°av" not to be x™pa 270
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ii) It obviously can’t be that the X113 suggests as an 17¢y to avoid " p that o°5v2
know that the 5w will be 7772 N

iii) Nor can it be that o°%va do the 77°%2 and a °%>w does the 1xa7

(1) since m»oin has established that the words X oK1 &°an imply that a°xn "
and 1127 don’t deal with where the m°%w does the 7827

(2) And maoin has also established that that the "nm°p%" of X1°1m "2 %01 "
begins only after 7°x2 when there is n»an 2 anopb — it follows that if 11xa
o°va and the m°%w does the entire 8277 beginning with n°ai7 1 AR the
12w has done Tx2 XM AM°P°

b) v n

i) o%vaarrange for the m5w to do the first part of the xam 1m°p% that begins
with n»an 7 aneph and for o°hva to be ma the nxan by bringing the o152 to
kARl

il) this 9%mn satisfies the X of X1°37 "2 °01 " that axam P2 aren’t TR —
and it also satisfies the 1w> of 7°xn " and 7121 because o°%va are 71 the xan

29 7

NAYI XA 2" TN "2 270 TANA ARaNI AN T XAIo

™D 0 B oy "D KDY 17D YA MR T PSD 10 1A 1IR2 7''Ta [N TRy 2D 7]
"'y AN pasa 'onn

NNNY TV 2" TN 2 770 TR nXanl nnR'7T X0

TNV 35D 1157 D' oY AR PRWATS 299 INTPOR RN PR 10 Rnw v "'
R? IR 702 IRRD JURBRa MPWINIR ARPTA 2RI TUORPDY 57IIR2 1T IND RRT
NS 2R DR IMDRT 290Pan PP R 'Y IR PR 77 ORY IRMPD IR
WD W VMY IR IR A1 NOIT MR T2 IR dyan jupbwa nx M7
NS RY RAT INV2TS VRS AR DaAR MARPT RDOOR 7IDNTD WO 191 PR AR N
792 AR KD IRAR NP ANITD IR NP 70 MY AR PR T ORY "D
19 9797 IMIDIRD KDY SIDIA FIPRI KT TWOPDTY 0% ew 2 awnsb 1R NN

TP'TY bR
1) First nnTpn

a) o"aw" holds that "am°p%" begins with mv pL-n70xa for the 17 of X1 12 01 " that
there is nx>1p only if axam nr°p? are X2

b) an1ran holds that this "m°p%" begins later with nvai 1 amp
2) Second mnTpi

a) If "o5ws woam mow (Juph) 1xa" (a case that counts as TR axam anpY also for
0"awn) — kLY 2910 agree that the m°5w isn’t XMp because a m>w isn’t P 72 as we
established in 'x pon
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b) but a"awn holds that o°%y2 are PP

c)

while on 121 says o°9va also aren’t 1P

3) °now1 brought by mooin at 17xa 7"'7

RIPY KPR TNIN PRI KDY ARIPA ROR PIND PR ARMPR R

IRIPY IR KD 29WR MO 702 1WY JuRLWws 0°9¥a NYTa PwD — KXW
XTI IRI X222 NPAD MR T2 TRWD 2150 ROWIP TR

372 K17 RPR X2 IR 1971 ARIPY ARIIRTIR02TD 20992 WP OR — RDD
29V 1973 199X MAPY 9917 R IRT AR 772 UAPWS XY NPD Dovw
a)rdizaln v

4) mooin —the "7 is a "R to the mvw of an 120

5) x"wann
a) we’ll be R how 5w is a "R to an a1 and also that the “n5w17 isn’t a XA
against o"aw"
b) TP
i) Xw of oW1 — "ARMPY AR RY 9Wn YW 102 1AwD uphwd o0y nyTa bnwd"
ii) note that for o"aw" it wasn’t 2°v2 ny72a that the nm°p% by o°bva that began
with the mwop be Tnxa with the %27 by the m%w — while for on 11227 it was
0°%va ny7a that the nnph by the mow that began after the s p® be Txa with
the x2n
c) now

i) For on a1 —since it was o°%y2 ny72 that the xam nm°p% be 7nxa by the mbw
and still "»>w17 says the case counts as xp? 7871 &7 — the reason must be a
separate 1>7 that 0°%va aren’t X7p for a 7827 by a mhw

ii) But for o"aw~ there is no “&1 — because it’s possible that the case counts as x?
7X*IP% 7x01 not because of any separate 1>7 but because it was o°%va ny7a from
the start that there be no 82 IR2mM IM°P°

6) X"wnn qwnn —x0a of the xR of mvoIn from the o0 of "oy

a)

b)

%920 of "Hwr — if o°%va were JupY there can be a x>y only if o°2y2 make the
7827 themselves and not if 75w 722 1w

Now

i) for anran if mow 7 Sy 1w after 7wepo there is TRa nxam AP and still
mbw7 says directly that o°%va can’t be X - the reason must be a separate 17
that o°%va aren’t x1p for a xa7 by a mow

i) while for o"awn the reason that o°>va can’t be 87p if 12w 7> Sy 173w can be
because the 11°p% began with vp by o°9va and there is no 7nxa aRaM 77°P7
and not because of any separate 7
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29 7

N99 21 07 q'pnn A" T 'X 770 y1an |n a71yaT X210

BoBT B Boy "D HPT AN 27 KRR ORAR D''RT RNIWY WO N0 10 nvpnn '
R7I2PND D07 PAWRT "D MY o2 27 N20T MRPT RIWD WP 2OWNIDT INY
BT AT 27 ARP OR2N 9 ART RNIPY WITT RN 7T DY RIT RNV TI2T 207 N7
SIWR RITT 7Y% ROWP KD 91 INNINRY DRT JAMI 27 ¥R VDR 2D INY 9o DaN

I2'197Y N0 7UaT 27 M2 BT KDY RNIYY X299 Thar an b

INi?'7 NDINTD O"Na NIDOIN "2 770 YTAN N A7IYNT X*AI0

"D IBATR IR POTY WY RYW D BY AR PRI YRWH "D ROINT 1P o7 7''N2
PRY ROR 527 RPIT VPIT ORAY 957 70R% 257 7N RNOMN2 T 10K IND2 'y
PIA WD W7 NN IR RO INPT PROINK 1O% KUK DPT RPIT UPIT 7D N2TH
'
1) nwn
P2 W ITAT 12 AWM YRR IR R AT 077 17020 D 7IN2 DIYR 2 anpn
2) XM
21 5P 77 H2% VI3 17 PR MY 7221 27 720 YA I PR DPT 11001 101 20 R
421 PRPaNHn XDD 21 719 Apnn
3) mooin — aww of >" as explained by X"wann

a) &99 127 understood 721 27 to mean that 5p7 is different from mi%°x axw — because
for N x axw if wx of the 19°% is w2 n1 then wxa pexp and 1w is "7ponn" and
grows again — but 7>%ma w P for 57 and n1? is wr»n and expects that the 5p1
will be wa»niin full before the %p7 is v abvn

b) x99 27 then

i) assumes that 7°ar 21 said his 1>7 only for 57 and 7°a1 21 explains that the mawn
that says "np12 Hw v i a2wa" isn’t a Xowp because the mawn deals only with
N1o°x that are 7°omn v

ii) and asks that for 721 21 the 17 should be ¥131% PR P12 even for na2x that are
7251 9Ta because based on a Xn>»1a the nY? isn’t permitted to be ywxn yxIp of
any 12°x so 7ponn v avails nothing to the np1? — so the mwn that says that w»
YIA 17 is a Xowp to a7 2

229 71
10 DX VITE AN

"D 270 KW AR TI° 1D 2727 NTIAY 970 KOXR "0 Y 772 [2 7MY 28 0T
"2 9377 3320772 292 2T NIV 120w 10 D' 1Ishw ‘o nnen boa ' B!y
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29 7T

I"TI9Nn A" TN

NIEI 9% KT PIBIND N7 90D WOAT R MDA 72 2" awana [R TRy AD 7]
525 "2 '7 PDIXT MIDI D% "2 M PITISR TSOMR IS MY 2nRwn PR 'y
"™y AN

NN 2T

WRDRR 7% 90h B''op 29RHD PR a0 2 2T T D 7aenn T2 'own
BaR 7207 T2 2R PVOW WD ROWP I PRDR MONT AW POYR TTINT 2''awn
TR T AW PP WADMY 77200 PWHA 7T D 2”PRR NN MMk o w''s

SRITY T RD MY BRI I 2P PRI PO R PANNTY 290070 0T

A9 7
7'0O9NVY INN D'AN DIYA AN

7 99 FTIRDD Doy N2 MR 1MW amma IRD "2 e ' 'Ta [2 Ty ap 0T
SR T'Y AMINAT DR RAMAD JIIRR D92 TV TV 1T 01 Y2AT DR 'owng wnw
2IRHD2 WD NP NIAR T 7' 9247 MR 1Y 212 INDT R 19921 WERY
P00 RDT 7Y 701 TR KD 7712 B 0% 9237 MR TUR N T XDT R''RY
7991 WPDRD MOR 2929 12 IPIANTR IWAT RYT 2OMNR W MWD YRR IR IR0 R
KD 9K I7 SR O0 RODaAnp YRART INMRY R 1Y 2mn 1712 IRDT 1993w
o' my
20! n17 2" TN 'K P70 DINY DIXNT X1AIO
TART ROWIT T 020 1N AN NI RPT R2ATT O RN "0 0 Y 7'
22 180 AR DD I R29T WD RDORT AYRT 20N 2mnaT 0oy o e
7R 2R RATIN AW IO KDY 1D W 779 R A" PINAR K2 ORPY ROWwIT
WA N AwA DA 27T P2 'OINT MN2TY ¥R NI 9207 RIWSD R2TT 19D ROWIT
WYY oY "D R2TTD IRTOW T2 TN IT RNIN22 NINPT 212 NOR DAY 12N
P
1) R
a) X701 2"
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i) If anp% oranom was mnw 7k he has the right ("7%7") either to be Svan the
mpn Or to say I INRW 71 °2 1N

2) X197 RYXN K2 RN
a) N2

I N7 ARW 272 N A7 ARNR IR 7P MDY — Opn 202 MNw 5y a0
PP

b) ®277 > XN
i) 30317927 ARIN I 7P MO [pn Y02 MY 5y n°
i) 7oUn 5y [MNwa RN n] 7 MR RWIT AN "
(1) 3P 2RW 717 °9 10 MR X0 [PV2 npn] IR 8
(2) ¥219P% W N7 ARPW 2732 70 AN
3) mooin

a) Although at first sight it’s ¥nwn that 827 agrees with 101 ' who says there’s no 17¥9
— actually the x7nmx means that 827 agrees with x°w1 7770 " and X701 27 that there
IS 1%

4) X"wan
a) Nwp

i) Even if we were to accept that 27 agrees with xwin 7717 " notwithstanding
that the words of xa1 are the same as the words of jn1 '

i) How is it that the X7mx says X277 "nn> &°1n to prove that &27 is right from '
X*w1n 777> when X271 actually uses the 1w of jn1 "y who disagrees with '
oW a7

b) vy by mpoin in RyUgn R

i) The &3 means "“nn> x°an only for the part of the xn>1a that says v o an"”
"™3) IR

19 T

N2IN XINI A"Th "2 P70 NINY DIRNIT X12I0

"D RLIWD T2 K®Y "D TR WA MW N2 MDY RN RIM 772 [R 7MY 70 0T]
T2 KDY JOPIRWR PORWT RUIWD ROWP N7 KD WD MW MR KD OR var b0y
19" PN IR AR MINT APR DIWO22 A0 AP TIRNIT 100 AT AN 1997 R''T0T

1) xn»Ma
a) 21 KD 12 MM 2130 ApY? MY IREAN M
2) X
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12 A2 2120 [P0 7AW DY A PRI Wwa wian MW 17 197 XT0T 27 R
701 R

92172 R91 12 NI 2120 AP MY IRYAD NIDY XND22 X1N RINM
3) mooin — x0a of the &1 of the X3 from the xn»92

a) The xn»1a that says 19 82112 2 7120 npY? deals with where the mya and nio
were mwa mw in value — still the change in quality results in the same 1>7 that
applies to mnw m1xn1 where 7017 27 holds that 7akn»i can be

b) Now

1)  Why would the xn>92 teach that the 257 can’t be 7nn — certainly the 721
wouldn’t anyway want to be 1 to take back myn in the place of mo»

i) Must be that the xn»92 teaches the xn121 that the 121 who was 71&» can’t be
ann for mnw nxX even if afterwards the mva were 1Py and the 251 would
be r"n by being “mn

4) X"wan

a) mooin holds that the & 13 couldn’t have derived this Xm27 for mnw nxnx if the
myi and Mmo° weren’t mw2a Mw

b) because then the purpose of the xn>92 might have been to teach a different v 7n —
namely that we don’t say that

i) the combination of the change in quality and the change in value (even if the
change in value is less than a minw)

i) results in the case being treated the same as where the xR is mnw» 7 and
there is npn 7102 with the result that the maxn and 7axn» can each be ann for
this reason even if 9917 K>

2 720 Myt 177101 YT A 770 NINY QIRNIT X1AIO

P37 KD 2R 2IpHT "oy "0 ¥Rl 201w 1P DO ¥RIT 3TN ROR "D 1 ' Ta
DY RNI2T VPRI 7R RN IR TIPT KON APR D02 N7 KD T By TR 'R Pn
Py 2" awn W'D apn DA T T By Thya

1) xm

a) If 12"y mw 2 1on the 2 was minw maRkn1 — X701 27 says that np1h can be ann — if
9717 and the price then rises by 2 from 6 to 8 so the 121 is now losing more than a
mnw still only the 12> who was maxn1 can be ann

b) If 72" mw 1% 151 the 121 was mnw 7akn1 — X701 27 says that 1om can be nn — if
the price then falls from 5 to 3 so the np17 is now losing more than a mnw still
only the 221 who was 1a&n1 can be ann

2) Mmoo
a) Nwp
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i) Inthe second case the np1? would lose more than a mnw even if the price fell
byonly 1to4

i) Why does the & nx need to use an example where the price fell by 2 to 3
b) y1nas explained by R"wann

1) In the first case if the price had increased by only 1 from 6 to 7 then the 1omn
would have lost exactly ninw — to teach that the 121 can’t claim nipin 210°2
even where he loses more than a mnw the &973 needs to use an example where
the price rose by 2 to 8

i) Once the & nx needs to assume a price change of 2 in the first case it assumes
the same price change in the second case

19 Q7T

nEo "n oX 2T 0"awn 'N 770 DM 7w 11T Nalo
NI TN
72 909 20w "2 17 %2 N2 an "o apD v an 7' a'awnsa [2 Ty 78 07

AR RWIDY A1 RO 0 TIVIN AT KD NI 92921 RLRU02 PRNnn "o a'awnow
TP'1ITY RURID2 A1 NIWIMWDA MRT KOX "2 29y Nl

"DINT 12AND PRND2 DYDY oY "D AR YR X102 DaAR AR NP 792 0N 7'
TP 2R DR N2 RRPIND WORT KON AN XM KD a1 U027 R''awn awa

1) mwn
a) Rw™M
1) 1P2 mIp RD — qwn KD I 772 170202 MO 10N
b) w90
1) IPn DR DWW 1P D P2 Ph oX
2) XM
a) TPY? 7Ip RLMD2 YRR 223 DY I T 730 M MR COR M K
b) npY? Sw INoIp NG TTINA RPK 027 YW KD RAW KT DD MR

TR PR X02°02 X1
ap X02°02 Kehg=h

c) It follows that for x7°1 '3 the xw> of the mawn that says npY? m3p X2 can deal xvn02
— while for *ox " the X of the xwn of the mawn can deal only 2277 mwn2

P IR Nelakio} awnT X
X7 "
P IR 1" TIWnT XYM
DR "7

d) There can be no opn n°2w in 2"772 so the &9°0 of the mwn must deal only mwHa
0°%v2 or Xvn°02
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P IR XUn02 TIWnT XYM
X7 "

P IR 1"7M TIWnT XYM
DR "7

R | Wowpn ow TIwnT RO

IR RLADD | TARTPT MY 2

o°hva N3 DX "

3) a"awn is won that the xwen of the mawn deals xvn o2 as explained by x7°1 '3 and says
the ko0 deals o°%va mwAa

4) X"wann atnpd i oxa"
a) Nwp

1) Since o"awn explains the xw> according to X1 ' — 0"aw" should have
assumed that the x2°0 deals xv»°02 the same as the x>

5) R"wann at 02277 Mwna R 8"t

a) X"awn says in °X13"7n at 2w 77 that there can be no opn n°ow in Xvn'o — and that
the xna there that implies that there can be xvn 02 o1pn M°ow must refer to a
o7aw Hw nwn which to some extent is similar to Xu» 02 — note that o"aw says at
Ay A7 that ™17 omaw Sw X1 AYW NN QW 2277 TN 2pn Runo"

b) It follows that the x*wp of mooIn to o"awn for X"awA is that o"awn should have
assumed that for x°1 ' the xo°0 of the mwn deals with "omaw 5w mwa3" which is
more similar to Xv» o in the Xw» than a°vya nwn

T A"T NIvoIn 2 770 1IN 7w 17D T X1Alo

SRR o "2 nhYM TOMRT 23 BY AR RY YRR 923 HY Dar "o moum 77 7''7a "o
WY AR SIRTI N7 ORI 9D MY DY RO 21PN 10 PR 1anow "D a3 by N
ATURT IPYD TTRR /DR IVRT MY JIINAT D' "D A0nT 23 BY AR NnTe

27 YR 772 AN IR KDY YO RWROD Y2 By o Rba N0 ovwnT

1) mooin

a) 7 ' R ok M says that where there is 77>71 by 25w and Xvn 02 ypapa 13 the
mawn would say that the npys is map

b) x9°1 " asks whether 1am1° " might have said that n2 m1p only if 0% moam 71
112 Hw ano1p and not if Xvnv0a vpp 23 by mIm 11n

C) noRw
i) Can it be that >ox "1 deals with where the np1? made the 77>
d) mawn

i) No - then it would be a mv>w» that *ox "1 is correct that there is a 117 even if
YPIP 22X Yy 11 — because 77> by ni1? in the Xun o counts the same as if
there was n1>°wn by 217 in the xvnoo

2) Twni of mooin as explained by R"wann
a) °n°n R>n
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b) Maybe Rv»°01a 77> by the 12 is v relative to xvnoa n2°wn by the npy?

D7D NIV NI A"T NISOoIN ‘A 270 DI 7w 1177 X210

"OINT 2N PRND2 POUHY DO "D AR X KU Bar AR INMAR 72 Ry 1''72

TPITY 2R DR MINR RPAPIND TWDRT RPN AR X7 KD 1 Rvnv0aT X''awn awa
'R Pona YL Py

N9 Q7T

i 7D A" T T 27N D v 1T Nalo

wY oD "D TTRT 31921 91p BT 0mY owaT v"'IRY "o 2pn B ''7a [R Ty 15 0T
1APR 7199 ROD2RP ORM O''RY RUAID2 Y9IBN T3P RY 03P 9710 R K927 YRRWRT PRI
1P 991 B'R2T IR BT H''R KD 19IDR 119971 KD OR S7IR OR 1271 NINa YD Hw 19903
RIDR RPIT 1397 77IPT JAP0T 21P 9917 219 DRI 297 7 1RD PI0RTS IR ORT

' my o awaT 'R I upt RITT2

NNnoomaa"n n"T nivoin

7Y "10 250 307 HaR 15 MW IN TINIRPW TV IR AR "D Xneowna A '
MW T 1Y D2PR TV J073 RDPT RO ININD D' B0 B'oy "N manw
'™y "1

N9 71
N7y "av 1 "1

N57 22" RORWMAY NIRT 772 INNIT T NTRY N0 7RYR TR 10 11T [2 Ty e 0T
1P BT R'RA TIPT M MWN2 AP B 1R X7 IR PR 9oy "o e ova
%' M1 TR WD 2R 10 IR RPAWT 100 ROPaNRR A1 NP 9O DR KDY poonTe

2P'1Y7Y 2D W IR YA N

1) X
a) 1P °1p 2°1 Y R 0% MwNa e Yw 1R
b) x°wa'x as explained by msoin
1) 03P 257 701 D MR RDY M Mwa npYh w19
c) nawn
i) DwM aN%p TINY PAT mInan
d) =27 as explained by o"awn and m»oIn

i) 12 WOw omIpn HY TOPR IRT A2RWNY MW 177 1031 NINDR 0% 122 SOW ON0 OIRY
9% 2
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2) Moo — RWwp

a) How is this oypn n>xw effective without a 1°1p
3) R"wann

a) Nwp

i) For np1? mwna 10w w v2 why is it relevant that the 221 said "1p 21" — even
if the 70w said »1p 9°1 there is at most a 21 n°Xw because the 1212 wasn’t
73Pn his mwA to the np» with a pap

709 |'2 0" TN

R97 972 pawn Ro77 7727 2''op "1 2w a1 poy 77 WIERY e Ty pep 1A 7'
ND02 NPT "2 POD ROW TV 772 MM 2'RT 2"awnsy TV YR nwnh s
KPR 7Y 7T RROT X277 IR 1D P02 9" NP 3P0 9751 RDWOR 1ARD DT TN

22171 POD DY oD KD D' 9057 Tpnh BT 9% "D poD

1) First nnipn
a) RN™72 — 723 DY ARIANM NP2 TIN? 10131 121N DWW 1IN IR Twn

T3P RD PO KOW TV T T3P RD 777 ROW TV POD P79 oTIP R
T3P RD PO ROW TV T 7P 77 ROW TV oD 7?°79 IR XD°0

2) Second nnTpi
a) ™o in the X092 counts as a aman
b) a"awn says the 77> in the ®n*92 was done in a way that also counts as a 1
c) nmooin says the 77> in the X092 was done in a way that doesn’t count as a nan
3) XM
a) Nwp to the xo°0 of the xn»™2
i) DD R 2 poD % A1 (AN RMTT) 2P IR0 7N
b) y1n
i) nYT ROMD K? PO KD NYT ROND POD

ii) for there to be a 2xn 11p for Mo in Y2 MwA there needs to be ny7 Mo as
well as a nman

4) xn»92as understood by o"awn who holds that the 77> in the xn*92 was a man

(7779772 737 3T RDONT) T 7T ROV 7Y (*51D) POD Tpd amp RW™
X7 (°21D R97) poO ROW TV 7P KD (M7 W RDPT) | Aman RDDT)
7P (7D XN

77 P2 N7 ROORT) T T3P 7T ROW TV (°310) POD | R0 NN XDD
T (7757 TR P2 AP0 | (AR TXN NI RN DANT) | AT RIKT)
71p X2 (°on0 R?) pod KW (7p™d 787

5) ®n»92as understood by m»oin that the 77>72 in the &n*12 wasn’t a 1mn
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RS9 7797 TIR ART) 70 7T ROW 7Y (*51D) PoD TP omp /Al
(°2m0 X97) poD ROV TV (AMam 7P XY (M oW RDT) | an RDT)
P (7p™o 787
TXR NI I RORT) T TIP T ROW 7Y (°31M0) pOD | 7IPOID NRD XDD
(>2n0 X?) PoD XYW TV (APID | (AP0 731 NI RIK DAMT) | 03T ROKT)
7P K7 (7po 3N
6) X"wann
a) ToRw

i)  Why does mooin disagree with o"awn and assume that the 77>72 in the &Xn>1a
wasn’t a anin

b) First n2wn

i) for o"awn — pod kY 771 teaches the same 1°7 both in the xw>1 and in the ko0 —
namely that n1p X? where there is nm17 and no ny7 M>mo

i) While for maown — poo X1 771 in the xw teaches that 73p X7 where there is
neither 1m11 nor ny7 M>2°20 — while pos X 771 in the X9°0 teaches that 71p R
where there is no ny7 m>°no but there is nman

c) Second 72wn

i) For o"awn the &3 should have asked its xwp that (7mam X*177) *10p 1P 70"
"P0D KL *% n poo % in — not only for the xo°0 where there is 1371 based on
7>9 but also for the w1 where there is nman based on 77>

19 T

I'TTX? A" T D"awn

"D KDY AT R e WIBR RIT "D P7IRh 772 2'awnsa [R 7Y 1 0T
'y B'"oy

19 Q7
NP [IYX [IYRY 2" T NIvoIn ‘X 770 n'w7w2a DT X110

NRDANIWD RAPIRD RDORT 15 KDT 71''D 719 PWRD PRI 772 013 [2 7%y 19 77]
TIPS RMPIRG ROORT @WBW 13255 71''D 77 PR D'op 19 9""% IRTI PRI 77
RWSIT ROWIT 77957 KOT PITT NP 77T 28 1IN 11D KNS 799 9197 9190 AREANT 90

“"'I7Y 7702 T 9377 IR 192 WA NI30 99D RNWST SIORT TP WK PIWRIT

1) First anTpn — XoyaR at ;o a7
a) X7 P2 71p 0% MWwa npe dw 1o
2) xn™31at .9 a7 - P21 M7 YR
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nPY? AP 37 ARDHNIWA 70707 ATH2 — 'R Naa

1277275 1°7 '2 X222 9aR — DOIW HW APKRW 7772 '8 X232 (PRNIT) 8172

nPY? 7Ip XY 217 77227 M2 M PWRI WK 1072 AR YW 772 7007 o8- 'a a3
> mIp o7 AT

BaN JTIW YW IPRY TXM2 IR 0°277 MW '3 K233 P2 'S X223 2 (3wT) X'
1977975 11°7 '7 N2221 '3 X232

npY? 71p KD 921 MW — 'A Ras

nP1? 7P 012 N2 - "7 Naa

3) Xvat a7
a) PR 20

97 A1INR 7RO TTAI RDT AT DI 701 12 MY 2127 77 191 IR 2WHWA D
577 999 PR Tn 0RT 0 TIpw

b) xwp to HXmwI 27 as explained by o"awA
i) ARDANIW °197 AR P12 7R PWRI PWRI 7712 DW 1712 12 8222 RN°°I2T KW 00

i) And presumably the xn>92 deals with a 121 who was selling 7r°2 715 the
same as 2XmwI 20

c) the yyn of the X max isn’t relevant here
4) o"awn
a) 7o we that the xna asks its xwp from "7 X232 in the Xo°0 that says that a > is
AP in PR NN

b) mooin quotes o"awn as saying o W aren’t correct because '7 X2a in the Xo°0
might be dealing with a case where 77277 nx%n1

5) X"wann

a) 2"aw" in our 29V is 791 the o we this way: '7 X232 in the X9°0 isn’t a X°wp to
XM 27 because '7 k22 can deal with where the 907 wasn’t selling 7r7°2 112

b) But this 7% for 2"aw in our 090 is a pm7 because we’ve established also for
o"awA that the X°wp of the X n3 assumes that the xn>>12 deals with a sale of 21>
72

N0N0T X2 "TNA TN "2 P'7n 0'W7wAa DT N1AIO

RPIT 1R OR RI77 9oy "D Y nwnaY "o 712 0 MeneT KXaa 7 7'Ra
MWIRW N 7% AR AT PN KDT D02 1 ITAT ORTY P NIwNa RYANIa
AP NN Cann® R RS "D PWRNT 2R TR DR TRT R2aR Dan amaw bw
102 MIWN2 AP DR TR POVAR LIDNY 101 IR AP NN N0 D e o'RY
SINYDT 11997 "SINT 12NSW 10 21NYRY D BN AnDWw Y WP IR RTIR5NT
PR NIRNRY ORP TR RO PRI KT 27 ApYP N2y "o ''a R''Ta
PRI X727 27 10 57'792 K172 ORT AINODT PIIT NIT WMWY TR OOT ITAN
5577 9111 15 7712 K172 2 NINAY TIRY "D RN 2R TR DW 17T N2 O''RY
NI197 99777 PR NIRN2Y "1 571792 2nD 2R MR NIRDANIRA ORT PR 2% T2
577 N2 SIN KD ORPR NINPT "D PWRD 2R AR DWW ITAT 2N ORY MO0 NTRa
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737 R 7IPYD NN DY DR TTRT RNYIN2 TR DRI 200 vwDn DR YD mwn2
2217 NI 92aB Dra By mn

1) mooin — xwp to a"awn for being 7°797 the o7 we by saying that '7 X223 isn’t a X°wp to
XMWY 21 because PR 27 can say that "7 x22 deals with 777 ax%N1

a) Note that '7 822 deals with np1? mwA

b) If to avoid a x°wp from '7 822 — XMW1 21 need to say that in '7 822 there was
nY? mwa2a 770 RPN — then instead of there being a separate "7 832 — the xn>*12
should have expanded the second o>k 0°727 7n2 to include npY? nw in addition
to 0°277 mwn and onaw 5w xn — since if e is 713 where 7717 RSN I M
o°277 it’s a 19w 92 that he’s a1y if 7710 AxPAN1 in P2 Mwa

(MWRIT) R"72 ARY? AN 370 AROANIW (D77 W AKRY) M0I0T 7702 — 'R K22
12779275 11°7 '2 X222 DAR — 0w HW A1KRW 7712 'K 8222

nP12 7P RY 01T 77127 9D 1P PWRI PIWRA 172 TR OW 37 707 oK — 2 X232
> "Ip o7 AT

DIWA2 IR TR W IPRY XA IR 0°277 MW 2 X222 1°2 'R X222 772 () K172
1277970 1297 1382223 '3 X222 DaR Y bw

[P 73 RD 10m M2 — " RA3

L B K

2) ®"wonn and R"wnn
a) xwp to the x°wp of mooin
1) The second o & 0727 nn2 applies to "2 k22 as well as 'R 22

ii) it follows that the Xn>92 couldn’t have expanded the second 0°71mX 0727 772
to include the mw of the P17 because then

(1) for Sxywn 21 the kn»12 would have taught in 'a 22 (which besides saying
that np1%2 map nP127 7712 also says that n? map X7 7017 7713) that Hw 1o
P 7Ip X2 112 mwna o for the reason that 993 5235 Sva npye mwa"
"2

(2) And based on %3 232 Hva mwA the ®n*>12 would indirectly also be vwns the
XOY2R 0N 120 M2 i1 2w 125 (which the &na compares to 1om w 1793
nPY? Mwn2) on the basis that rpy®7 °25 >23% Hv2a 92 MwA — with the result
that m1> map

b) yynof x"wnnn
1) This itself is the x99 of mooIN to 2"awn

(1) o"awn can’t be correct that Hxyw1 29 can say that '7 22 deals with nx5nma
pRfah

(2) because if so Hxww 27 would have to explain that the xn»92 isn’t 2°1n
the second o127 n2a as we’ve proposed because the xn»92 doesn’t want to
be vws that *75 *23% Hva mwA

c) vrenof2"wamn
i) 0"awn can’t be correct that P& 27 can say that "7 822 deals with 70 axonn:
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ii) because if so 2w 27 would have to explain why the xn>»12 doesn’t expand
the second 2 1mR 0°127 na to include the mwA of the Yo
iii) and
(1) it wouldn’t be a yy71°n for 2Xmw 21 that this would result in the xn>>92
being vw»d that >3 *2x% Hv2 MwA
(2) because the xn>92

(a) could place the second ok 0°127 12 right after 'k &22 to teach that
'} 822 (but not 'a x22) deals also npY? mwna (so that 'a X232 teaches
nothing about % Mwn2 921 Hw 1752)

(b) and place what was the first 0> mR& 2°727 fna as a an7pn to 'a R2a to
teach that '2 X232 is different from 'x X22 because it doesn’t deal with a
QI YW OPRW 770

X222 ("3wn) R"72 AP ANp 370 IRPANIWA (DI YW A1PRY) 0707 7722 — 'R K22
'R X222 (PWRT) K721 AP HW M2 IR TP W OIPRY 1802 R 22277 w2 'R
1277272 11°7 '2 X222 LaR —OPIW HW PR 7702

nPY? 7Ip X2 22117 77227 92 I PWRI WK 12 AR YW 777 7007 08— 2 X232
Y 7P IPPT AT

PR 73 RD 10m M2 — " RA3

3) X"wann
a) Xwp to "wnn

i) For the nvw of "wnmn there would be the pmi7 that the xn>12 would need a
third o>m R 02927 7n2 after '2 822 to teach that 'a x2a deals only 2"772 and
O7Aw 5w rRw xna and not in a2 mwa (as in expanded 'k ®22) and not in
75 M (as in '3 X23)

nP12 ANP 7T ARDANIYA T2 YW AT R (2w YW APRY) 10707 7712 — 'R X213
X"72 PY2 HW MW IR TPIw W PR 1802 R 2°277 MY 'R X222-Cawn) X'
177 "2 X222 LaR — ARYANIW P12 DW 772 R 07w HW APRY 7792 'K X222 (PWRIN)
191972

T3P 7T 2YAT 19 73R PWRA PWRA 32 TR W TR A0 o8- 2 822

'3 X222 BaN 2naw DR 7INW TR I8 29297 Mwna "2 Xaaa (webwr) 2vmaT ana
127972 1177

1?12 73 XD 10m M2 — "3 X33

.T9 Q7T

Nn17T 2T 'R 2T 0 "awn

R2Y97 90w 12 1995 71O9 PR RO IPRT 17 OR 7''72 2''awnna [R 7wy 1 07
I R9T7 RO VIWDENY DIPHT PUPAR FTRRYA 197 2''RT DI NIWN2 IRT S
D"PY Y

NIN XD ' A" Th
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AR

79 T

1N 7¥N 112 X N71Wn nawn

7''01 DR "D 1AW TR 10 TTRY N1uR DRN W2 AR AT mawna [2 Ty 18 07
O N2 J19TDR 7InRY RN ARY 2now 2'awnmnn n2m 39 w''KRN2Y f''a
H'"waaa

N "1 n"awvwn

17299572 29737 "7 P52 DRIAWT 573N ROINT 23 DY AR "2 DRMRTs 772 2 awana
2MPY WN 2"MawaDn 77 00 WRn WIN 9172 MRS 2ARun RIT 9oy 12 avn
RRPIRD X750 902 DRIAWT NN RUNT 23 DY ORI 0D 7IRNT 2017 2D
WY ROWTT MWD 772 572 29977 71999572 IONT DIDT2 MR 3527 70aYOR ROTT RNM9D
92 29977 PN N2 RO NPT 32 07 HY R MWD anaT 70naT A'YNT whnh

H'"mY NPT 12 WNRY

n'ni7Y XX A" TN

1D 17 TRVIR PASY 7'M 2 ARY 79T MWD T 91 9557 11D NP RPN 7''72 'on
A

DN 'K AN

B'OY AR NIAR IR 1D NIMDIW 172 Y120 NI 271 72T 1D RAINR IO7OR 11T
N7 K20 177 RDT HOY° 277 7729 K277 O''RWH 925772 RRPIND 7799 N1 0pD R7mbm
(9= RRONT

.N9 T

7120 AT " Aa"Tn"avwn

NYTA KPR BRI K27 ART K7 7OPDRT72 119920 " A 2 awana [R TRy e 7]
DNIT 77277 TN RO MWPRY RO DT 2 1730 Doy No77 33209 119957 %7 I9TA

IP'1YT7Y OB JWRRTS KT ORI
Y12 T "2 nnr Tt n"avn

NOMO T B''oY 15 KY 5''RT I5W KRNI RPIT IRDT S92 7IRT1 10 0XopT 2'm a7
W'Y HOUH "'OINT W'HDY INP RDOON TOW KRNI RITW SIDNT IO INTY PIANT DT
NO77 2"'2W9D0 0 WADR KT YRWR 239717 7 2953 "N 39372 Har b'wann
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RUTR 2157 ARPTHA RROIR M1 ORPT 172 PRWAT 2RI 10 TR KRN NPT
oW KRS RDN IR 2IDR WD 'Y TINY RDWONR P ORP U7 KD IR 100 R
2T TR KD M

|'vo n"T Dn"awN

"D TP AR 922 779 PIANT ORAY PINT KA 2'OY "1 1 P2 Pun Pue 1''72
19" 79T 99D MY AR T2 NN WD

:NS 71
ym0n7 arnl "1 0" awn 'R 270 aydaT X210

FIRTIY 1D DY USRI 1R R MY 0w 20 11772 [2 Ty o 0T
FDUR PO N PRI AR 2RYD TOUADT WeR yRwn 5oy "o ninsbT ava
TR V'R YOO 2MWN DD IPANT OYAT YRWR MDY A IND PN "2aa 1aph Ban
TP ROTT 1AM 2" 77V BRwna DaR MMITNR 7D IPIRTD MITA Dpwnaa 1T b

1PN FIDY T PRI N YRS ahwh wa i

1) nwn
a) moOvI? Y377 M
2) o"awn
a) The mawn applies ¥>7577 WmIw 0pna

1) The pan of the scales that holds the thing to be weighed must fall below the
pan that holds the m%pwn by one nov for each weighing — regardless of how
many 1w are to be weighed in that weighing

ii) it follows that to be ¥>121 10 w5 of "wa by one nov requires the same
amount of additional 7wa as is needed for 10 nmwn>:7 of one rvw each for one
Rl

3) X"wann
a) Nwp

i) The X3 0on .vo 77 says a 2pwn that’s 982 "1%n needs to be tall enough to
permit the item being weighed to dip three o nov

b) v n

i) The xna there applies to a large %pwn used to weigh *m773 (heavy loads of
metals) — one nov is tall enough for the typical Hpwn of a 1 and a n*an va

TIn' X7 27T 0"awn "a 270 Ay1dAT X210

O3 TTIARDY NV TTIR IPTAY A2 WD TTIRW 2R 1R 2" "1 T KD 72
Tap® 3"A 2"awn D AT 2UWST QMWD SIXTY D NN 39 B''oy mpn TooDn
RMITI R "D A2 1R PP KPR R'RW Bpnwa
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1) mnpn
a) 1717 refers to measurements of volume and is done by nxo and 2p
b) Spwn refers to measurements by weight and is done by m>pwn

2) mwn
a) "np72 7 KD 1032 — 7032 T KD P72 T wmaw apn"

3) no"awn according to the &ox of X"wann

a) A "0 can’t be oxn¥n and with each measurement of volume needs to give the
nP1? somewhat more than what the np1% paid for

b) It follows that if the 72w is 77 a product with many small a°3p (7p72) this
benefits the np17 — and if the 25w is 771 a product with fewer larger xo (7032)
this benefits the 1omn

c) See n"awn on .vo A7 at _nX 2 Mpw AR ®H 1"7 for a similar wi7s regarding
weights

D771 2N

TRT KUY 90D N3y 21D 2" Naw nvRR PIRT 790aR noona "o abvpy 1''a 'on
57D TR 19 MR D"'YY NRY MDD N27R2 PP JART 7 J0TAY KD 1R N7 0D
MB5P2 230D 970 7' 9105 22aRI PNPT MR 30 IR 17 NS MBBR 192 Poh

“h''mY ANT 1IN Y777 95T Nan 97

1) oro1ran

a) the n1wno are arranged to be xMp the m5p of o°ax1 nw-o before 7w win so that
SMY9RY MW ane

2) mooin
a) Nwp
i) Our & nx considers as n17%p only those in *mpn2 nw-o and Xan 2 nwao
b) yynof >" as explained by X"wann

i) It’s in fact because 0°2%1 nw1o has no m>5p that we’re XM this 7w in the
year that’s ending to separate the n199p of xan »> (that comes before o°ax)
from the new year

il) proof as explained by X"w-n

(1) a &n>>2 at :XH 3970 says X1y was jpnn that the m%%p of *mipina should be
read mvaw *19% — and that the m>%p of xan > should be read mw; w1 "18%

(2) now

(@) for >mpina the word "19%" means “separated from” because 12721 is
placed before myaw to separate the m>%p of *mpina from myaw
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(b) In the same way for w1 wx the word " 19%"means “separated from”
because oax1 is placed before mwn wxn to separate the n%%p of xan
from the new year

.09 OT

27w XIx n"T 0"awn "a p'n aydNT X0

DNIYOAT TWHR NN PYINSRR 23R 1D DR KUK 17772 2" awnna [R 7Y ve 07
RINA2 BPI RNDTDT XOR 2 MIWPH 91 PN PR 2pnaT 7'M 2oy "o nnRa

"'y "1 7oy b
1) xn»Ma

D DIPW 10MY PR MR KY — RV VAT AWHY Spwna w1 110 Wpan o
TR TX2 RV HPWHA KR KOR — IMRY °152 RV ¥°27 93 RO Y20 qwhw
W Y2 AT OV ROWH Y21 Dpwn moam

2) nnpn —three possible ways to weigh % of a x5 of qwa

a) three separate weighings of ¥ xv°% each — the np1? can’t demand this method
because the 151 can’t be oxnxn for each weighing and the n1% is unfairly m»n
three times

b) one weighing of ¥ of a x7v>> of 2wa plus a >pwn of ¥ x1w*% against a pwn of one
X107 — this is 7097 the 121 in a mov Pyonw opn because he has to be yon a
nov not only for the mwa but also for the ¥4 of a & v>% additional Spwn that he
added to the side of the w2

c) one weighing of ¥ of a x7v°% of 7wa against double m>pwn of Y2 x5 and ¥4
X% that add up to % x>

3) xp»™M32
a) The 701 uses the second method
4) o"awn

a) Inanov pyonw opn the 951 can use the third method and not suffer the to the
151 would have from the second method by having to be ¥>7on for an additional
Y4 %1% as pointed out earlier

5) X"wann
a) It’s a muw» that the 12 can also use the third method in a rdv Py 1on PRY 2P

b) o"aw emphasizes the w7 that the 121 can use the third method ina opn
o 1y1onw even though the second method would substantially benefit the np1?
by requiring nov nyo: for an additional ¥4 & v

7107 TAX YO0 N a"T 0"awn T 70 ay1onT X0
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P57 K927 Yo7 2R IND 20w "o axnxh R''RT 2R 19190 'R Yo 1 ' Ta
PRY 29722 Dopb W'Dy axns® RUNT 2% R''D W HRIT REDY N7 KON )

1)

2)

3)

'Y N0 ONT PR PYNIOR
heakkimn}

12 DRI ROR YO0 DAR DR 9 2P 1% R KDY P Y 11an wpan i
12122 71X Y7 10 DX D22 1910

ajinli7g
a) DM 70N DXNX? IWOHR KT DWN
X"wInn

a) This xn>92 is the 7pn of the 127 that o"awn mentioned in 'x P50 that to be y>75n 10
1% of "wa by one nov requires the same amount of additional =wa as is needed
for 10 myno1 of one nov each for one x7v°> — and this is why a 721 can do one
nov ny1a77 of 10 vy instead of 10 now mwa: for each of 10 weighing of one
X107 since this affects neither the 121 nor the np1?

b) o"awA here adds that the xn»12 also teaches the xman that even ¥>70n PRw 0pna
nov the 721 can do one weighing for 10 1w to avoid the m»a the npy? would
have for 10 non-oxn1¥n weighings of one &1v°% each

c) Compare the xn>>12 in '3 por where o"awn similarly says that xn>>12 also deals
with nov 1v°707 PRY 03P

n'nov 2" a"T 0"awn 'a P7n AY1DdAT X0

P3O RDW 97D 2now 7 PT7 XD 1O D'wanmaa "o mapn avme "7 avmou a2t ''Ta
YPPa YA ROW 2150 '3 PN 32 aM wR ma mwpah e 1wy sy "o

1)

2)

3)

4)

AR
lSakimin]

a) The wa1that is the fixed center of a scale must be at least three a°nisv below the
ceiling and at least three o°nov above the ground

o"awA part 1

a) The reason is so that during nwA>:1 — the 3P which is the crossbar needs to have
room to go up or down three o nov without obstruction

n"aw" part 2

a) The m3p needs to be four a°ndv long — two on each side of the wo1
A ahta

a) Nwp

i) If so, the maximum possible ¥1371 — when the 73p is vertical — is two o°n5v SO
the most free room to the ceiling that’s needed for ¥727 is two o°rvv when the
map is totally vertical
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5) R"wann

a) 9"wann could also have noted that the most free room to the floor that’s needed
for y1>5:1 is also two o°nov when the n1p is totally vertical

109 Q7
(nwxan) mn a1 0"awn 'R 270 MINT X210

P D wem B o "D AR DR 1IN 12 RPDIPY 1130 R 17''7a [2 TRy v 7]
R RUT 2P57 NIIMW TAINT WIDY 29007 Y902 2w RiTT My 2" awnn 71 v
RP2IPY 1290 N7 190757 2''awm 200w '0IN7 w9 RN a7 01 Ban ab oxn
TR0 D''YY 2P TR 9T NTRR ROT Y917 RY RIIT 2PN ORP KD 172107 0"y 0 nTRa
S"'YY IO NTR 92N TAPY SINPT M9 NIRRT RITT 1IN ORP MR ROTT RPN

1217y 2" AW RYNIDAR MRS NINON B avph v

1) First nnipn
a) A2pisw2 nmand is equal to 2% '7 of 7% nn
2) Second nnTpi

a) 120 means nnw —we’ll be axan if the 777 of 130 is an eighth of a 2p or an eighth
of an®

3) X

Y7 PA DWW PR ORM PR M 2R 370 10V 57°0P0 N9 1wn
K219 1230 XM DY 117 XM 9 1A

4) o"awA at (PwKRa7) 10 7"7 as set out in PR 0197
a) 27 Prnw [11°°7] 1IN XNODINI 117073 RO2WI 1210 XM
5) —Twnn of the X

1IN ... 2PN RO RNT AWW AR ... 77PN IR 7700 777 RIWOW 2TRY MOR”
RO

6) o"awn at (awn) N AT
a) 1N is apaw nanw as explained by Hx1m 110
7) 2"wamn in PwRD 0107

a) The xo7x of "aw in (PwRAT) 0 73"7 that 12 is %7 Nnwn R isn’t correct
because o"aw" in (°1wn) 10 7"7 agrees with SR 11027 that 1210 is apn nonw

8) X"wann

a) In (pwram) 0 "7 — a"awn deals with 97 n7 and it’s 12non that 10 there
means 2277 n°nw — note by the way that at .x 7 the xna refers to a i nn that’s
1/8 2

b) In (°xwn) yn 7" — 0"awn deals with wa°i nn and this is why a"awn can agree
with 811m 1102 that 70 is 2paw nornw
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(mwn) i A"T 0"awn 2 P70 nInT X210

"D IR 'R TORPY whDR R9SIY "D 9T DM 1T MY RDIR 1N 1''T2
MOIRW AR T 2995572 N 12 ROWIP IRY IR KNI 257 DR 2Ry 12 a0 Pasp
"D 779 TOIDPT N7 ONRR D'RT 297 NOIMRR 1397 IND 1A 2T B bR B''ay "3
Q95D 9N 2IDDT 1190 TR QARIAM 71T WA NAATY RDSIY 1997 21957 NI K77
TR KT 22N WD MW NI T DT IRT 127 PR T1MWR TN KPS 1T
T RD2WT T DITA 1IN DY "D 29%Don N RUDWT 12 9ITA 1N TR answ
2252 A DRI JVT MWW RAT RV2WTY AP NIMY RAT TN 2D
N7791 97 RO 2"'2Y 12P% 1AN0732 19T 15 pama wann 'R wann 1aph K9S R
RP2992 MR WUT 2 "D TIDPT INT IR ART NOIRY AN 2N TP 9o By
2T DR RYR IR RIT TN RPN DY TR DITH RIDIWT DY T RIT
TR IDW AT A9 NIRRT RPDIVY 2R57 MO TN AR 29T NIRRT RIT R

TP'1TY 97O KD AN 1D IR 2O9DDR N NRP RO I 1T

1) First nnipn

a) A 21pisw2 n7a—and is equal to P17 '7 that’s 12 nn

b) It follows that api1 ¥217 is one 2% — and that 2paw norPw is M2 *xn
2) Second TP

a) The &3 asks "7ay°% K7 X90w1 10" because &y "Wk wy
3) o"awnin PR 017

X221 [7AR 29 RYIW 2277 NO1RW IR] 7R27 227 Do1AW 13777 7Y KR 120
2IN0W 123 12 ORT 2 ROWPY [M27 DO1Rw 11°°77] Y2102 00w TR WIon nph
WIR WYT DWAY TAYOY K ROIWY 1IN 1AP7 T°I9RT ORA RN 17w 09502
RP2WT 12 173 1IN 07w ROWIP IRD [X0700 X7(Y) 7] A2 T9R Ryaa
XNO0INA A" ROR YA VXA IMAT RIGT AP0 1OrRw [120] R 2°900n Ny

.. RIIT 11027 WD

4)  5"wann is 7o the wind of o"awn with the words in bold

R?2W [TAR 22 RITW 2p7 NO1AW IR] 7R27 1277 D21 1377 177 KOOK 110
2IN5W 13 19 ORT V9 ROWPY [N1277 NO1RW 11°°777] Y2102 730awn TR waon Snph
WIR WOT QWM TAVD R XKW 1210 1APD TIDRT ORI XD 11PW 021902
TN ROWT A DITA IINA AW RO [RITD RA(Y) 1] 77 TIop Xyaa
29977 RIT 2957 DM AR Y11 XM 10T RIT 2P0 DO [1210] oR 0°990n0
WITPH2Y RNDDIN2 A7 KPR P2IT IR T RIT 2P NOIMW AR T R9DW
... PRI 02D

5) X"wann
a) The following additional words in bold further explain what a"2w means

R72W1 [TAR 22 RITW 277 NP1 IR] 7aR27 2277 DO1HW 1377 1Y KK 110
2INOW 113 12 ORT 2D ROWPY [N77 NO1NRW 1°°77] Y12 A0nwn TR won np?
WIR WYT DWNY TAV7 XY RO 1IN 1AP% TI9PT ORA ORD 1O 0°1902
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K22 1 21T 1IN W RO IRY [RD7D OR:A(Y) 2] A2 9P RyaMAa
N2 NPIRY ORY YA X I1TT RNT AP0 D0raw [1In] ok TP 00990 N
XNODINA A" ROR YA X7 0T RIT AP DOPAY AR T RODW 10 XIT

ceer PRIIT 127 WO

6) Twnn of X"wann
a) Nwp
1) a"awn should have said

X 2P NN [12I0] OR @9MPD "7 RIOWIT 11 21T 1IN AW RO ROWR IRD XM
"[NP2W NOIRw KIR ROIW PRI N7 %7 10077]

b) v n

i) There is a xo7a in 2"awn that X521 is 2172 nvwsnnn TR — the same as in our
X072 in the X3 at .x 77 at the beginning of the 71ny — and with this xo73 the
w1 of o"awn reads properly as explained this way

TR 17T 2] Y2102 wRAR TR K22 97 DR 1T 17 RIPR 1IN
DWW 72377 KD KW 1IN" 1APD TI0PT R ORD 2"RT D XOWPY [M92 wann
X227 12 2173 1IN0 7AW RO ROWP IR? ORM 72 IR KY2I2 OWIR WOT
ORI ROR RDIW PRI N %7 11°07] R17 290 D0raw [12In] or 009991 2y
DNIP UOAT ML DPRWY IV NIRIOW NPRORA "2 RO M0 3na1 0w

[R22W 112777 *wp n] K17 127 n°raw [1n] ar) [20980% any

‘D NMIvnal n"T1a ‘oin

23 v DR DaR By N5 RAT TN JRTAT RWIWD N''RY "D wna 772 'oin
PHY MMaY® anT WhsKRTD WY RPOSDT 07 WD RWP KD 10 vMbpwR PRwe R
TRy AN 9 MY AIPNYTINR POR KD 57MWNAA 23T RUNR WY nywn

X T
I'nn 'Y 2"T 0"awn 'K 270 N7 nTRT XfAI0

»''m B ey 9PN R waDR 1ARD 1D 1T Nt 172 2" awnna [R Ty X 07]
TAPR WADD N2 KD DaR WavT NTR2 2P ONNDT ROTT I NORORRR Y0 RWR ORNBT
RY2792 MWIN WUT QMM WA DT OMST TN RDT 1T NOYOAIR KUK Tupn b

IP'TY 2R wN

1) xma
a) n? m7n need to correspond with wa> mn

b) A 77 must be more than one fourth larger than the next smaller 77 in order that
there be no myv between the larger 777 and the smaller 77n
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n> vy 'R
7P 6 7IND jn!
™ T2 12 =12p 3 TR0 %2 = apan P!
ol il 37 6 =1ap 1-1/2 780 1/4 = apan 3n 7
7 N P9 4=2p 780 1/6 = ap 7
177 1P 393 YVT 2P Y2 WHY N7 N RY) b
(2p >23% ¥y
2) R
a) Nwp

i) "7av x> (" w) Pan nyea (B aw) pan nwrow”
b) The yy7°n of the X723 isn’t relevant here
3) X"wann

a) It must be that the x1mx accepts that in line "7 there was a 77 of P nwow —
since Prn nwhw for 7 corresponds to the 7 of w22 ap— and the next larger 77
for w2 in line '3— which is 2p7n *xn (6 2?) — is more than a xv2» larger than 2p
(4 127)

b) The & mx means to be won
i) why there is a 77 of P noyeaain line

ii) even though there is no 771 of 2p *ya1 w5w in line "1 because a 2p (P17 4) is
only % larger than 2p >ya1 wow (3 12%)

4) yannww "t a"awn

a) "Phn Wb WY pna b waon npd"
5) X"wann

a) Nwp to 0"awn

i) We’ve established that the X3 is won only why there is a 772 of 177 n°yo2n

I'nn Ny A"t o"awn a2 N N7 nTRT X210

"1 SNRT QIR "D ITT NOYORT IR A1 TaY ROT KT PAW A 93997 3077 nopoaa 7' T2
T NAWOBR XM AT NTR2 TAY KD ORPR NSRT AR 9oy "2 b 'a uenT
TTRTAY 3Y9Y SpwR 5792 K2V RITT P77 IR WaNT NTR2 7OANST RONIT AW 2 1T

TDTRY DAL SVRY ROOR T QMW TN RY M1
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n> vy 'R

7P 6 TIND ju!

™ T2 12 =12p 3 TR0 %2 = apan P!

ol i 37 6 =1ap 1-1/2 780 1/4 = apan 3n 7

7 N P9 4=2p 780 1/6 = ap 7

177 1P 393 YVT 2P Y2 WHY N7 N RY) b

(2p >23% ¥y

(7 W LW >¥n NNIT M RY) a2 ap XN T

2P OXM2 VYT PYW KD P YT O8n) ™R 1.5 n
RY21M2 9170 P2 2 1007 Wt
(77onm

1) (pwxan) Pan neyean a7 o"awn
a) Nwp
i) Inline 'min the table — why was there no 172 117 n°y27 >3 (1.5 Pa7)
b) yn

i) this 77 would be confused with w27 2p >xi1 (2 Px7) in line 't that is only a
xva» larger than the 1.5 1% of 722 noyaasxnin line 'n

2) X"wamn
a) Nwp

i) Inline 't why was there no n1%2 yrn nwhw *¢n (2 12%) that can’t be confused
with a 1737 n°y>27 (3 12) in line

ii) after all 1377 n°y>27 (3 1°7) is more than a xva»1 larger than na Pan nwHw “xn
(2 13?) — and this 772 of Pan nwHw *xn for n% would correspond in line 't
with the 77 of 2p »xn for wa»

iii) note that to make this 77 of %2 Pan nw 5w *xn (2 121%) would also have the
advantage that

(1) to explain why there is no of i noyea 2 in line 'n (2% 1.5) there’d be
no need to say that the reason is to avoid confusion with w2a> nn of 2p *xn
(2 Px7) inline 'y

(2) but we could say more directly that the reason is to avoid confusion with
the % nn itself of 7 nw %w >xn (also 2 21%) on line 'y

wUTna 2" T NIDoIn A 77n N7 NnTNT X210
SXIRT VP T 1T IR Do "D AR Y T ORI AR TITAD "o wIpna 7''7a "o
H''RY R VP TN 23R KON WARD W KD P57

1) xma

a) Nwp

i) 702v% X7 10 0oy Pan o

2) nmoon

a) Xwp
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3)

1) w237 Prn Ny PR 1A WY TR WIpna 100X 190 00
b) v n

i) a7 oxn could be measured by using the 77 for a 1% 6 times - 1rn W Hw
could be measured by using the 7171 for a 2% 4 times and 771 n°y°21 could be
measured by using the 77 for a 2% 3 times

X"wann
a) Nwp

i) moown never asked why a 71 of Pnn *xn was needed
b) v n

i) m»oin adds how a i >xn could be 7721 with a 7 for a 217 because maoin
anyway needs to explain how a nn nw 5w and o0 n°3°a could be 771 with
a 7 fora n?

I X1 a"T " awN

™ PTINY ROW B 5oy 0 M0 R YT RD R MINW KRS "0 NS XDT ''7a
RPN 7750972 70 KD 2mR 2w 19 PTINY RY 91 ApYRT INRNN panw avwh

1)

2)

3)

4)

5)

2HRY TIRTD PRI TN PRY 72 PAT RWATaY Wpna Dt 220 e
First 7n7pn
a) mmn aren’t enlarged by more than a sixth to avoid 705;1 to a 7an
Second 7P
a) MNwn N DN DR DN
0"2w — RN

a) Ifaanarrives from nanx 9w and "v7> 8% X3m" about an increase in mTn and sells
at his regular price — so long as the increase in m17 is by a sixth or less he’ll be
709% at most his mnw profit — but if the increase is more than a mnw he’ll also be
7097 part of his 17p

S™"pann

a) 0"awn by "y X2 X3m" in 22y nwh (with a ynp followed by a nns) means that the
730 didn’t know about the change in m7»2 when he bought and paid for his 7710 —
but he became aware of the change before he sold his 77170 — this explains why he
has no XX niyv against the 1>

X"

a) It’s a pm7 to say that the 2o realized the change in m7» and still sold at the same
price he had intended for the smaller original mn»

b) o"awn means "y7 X7 X3M" as a oy Y (with a »x followed by a nno) meaning
the 2an might never learn that the my» are larger and as a result he might never
claim that he was maxn1
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c) wwp

i) but the npw» does know about the larger M7 — won’t he recognize that the 2an
was mIRni

d) y»n
1) not necessarily — he might think that the =an has his own reason to sell cheaply

wUTpna "

SRIAT WP YT P ORA R oY "1 PAR Y 107 020 a2 71T o wpna 172 'on
TH'"PY TR WP TN 2AR ROR ARD TR KD 157

See '3 PP 19 NTNT X210

D"WY 7pwnl "N
WITIIR W'Y NYMSaT 152 2R 2rNRTa PIRTY RO T D 2wy bpwm 7'

I |

['9'0In N1'n ynwi 2" T n"awn

M7 1D MIITY 2YOPR R PR DR "D PEvee AR 172 2" awnna [2 Ty 2 0T
"=y P bab A7 WO T PT XD B''oy v awhe n'"a
1) mnpn
a) abpw is four »17
2) o"awn

a) 8-1/3 oopw is the same as 8 o*2>pw and a 11°7 because 1/3 of a Hpw is equal to one
a7

3) X"wann
a) actually 1/3 of a %pw is equal to 1-1/3 717

XX QT

DIRTT IR MPI NNRTT "D YT 9D 210 110 9D DROWY POND RN [R TR X2 n7]
TPy TOWDI YDIN2 RNPR RITY ¥IPDOa 17" N0

X TN A" TN

27 ' B oY 0 29927 INR Y9IDR 2992 KON NP N''RY "D MR 7 'Ta 'on
J5'"mY 91 NI AN DR N TR DY RIR ORR MR

*k%k

71°9077 NR 27 T2V 1777
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